AVENTICS™  AVENTICS CCL-IS &) —X &% Q
2124 (1ISO 15552 y
( ) EMERSON.



AVENTICS CCL-IS U —X %3 1) >4 (ISO
15552)

2024-01-18

> 1)—X CCL-IS

AVENTICS CCL-IS 1) —X (IS0 15552) UV R V) =555t T, BILAERIE TCOBEAZATICREET LT
WET, EANGE HORYFEINIEBET, TOOU—2RERGTE. IROTO O INBIO V-2V T EBVXD T

FUAHA VN EBKIEDETVET,

. BERBRLENEREAOKENIES

o AUVL—N—&MBH (NSF-H1) &k, EmA
BTERENTVET

o KREAOIYIVYNAOEENZREF YV S

e« BEARNOERN 25mm—125mm D 8 2D
YA X TRIATEE

 EMELFIERIESEEH S OBIRN TEE

o VATALADFI—TOOAVET N NERITTIER
NERBEMEZTHD, EEAN—TORKEHER
NEREHREZBRT DA T3

4

od

EMERSON.



AVENTICS CCL-IS U —X %3 1) >4 (ISO

15552)

3
2024-01-18

1ISO 15552, /') —X CCL-IS

ISO 15552

B —

ERNITOERICES
ATEX THA7> 3>

& LB
A

RTFY RMIEEANY
EERHREE

U
it U

ERNITOERICES

LTI EE

F7° a3 TEMmMG
ATEX TA7>a>

EA L A~O—2 R—K AOL—=/N EARK> EANY XTUT7ILES
> @ [mm] A AFE  hHEAE
[mm] [N] [N]
25 25 G1/8| Z=ERHA| YTXRY b M10x1,25 | ZETER 260 309 R480671114
EEE | FEEAN AIL—N
>
25 50 G1/8| Z=EREA| YITXY KN M10x1,25 | ZET¥MA 260 309 R480671115
REMEE | HEERBN AIL—N
>
25 80 G1/8| ZERHIT| XTIV K~ M10x1,25 | ZXETHEH 260 309 R480671116
HEREE | HEEAR ATL—NN
>
25 100 G1/8| Z=ERHA| YTXRY M10x1,25 | HZEXETXH 260 309 R480671117
HERRE | FEEARLS AOL—N
>
25 125 G1/8| Z=EREA| YITXY KN M10x1,25 | ZET¥MA 260 309 R480671118
HERRE | FEEARLS AIL—N
>
25 160 G1/8| ZERHIT| XTIV K~ M10x1,25 | ZXETEH 260 309 R480671119
HEREE | FEEAL AOL—N
>
25 200 G1/8| Z=EREHA| YITXVY N M10x1,25 | HZEXETEH 260 309 R480671120
HERRE | FEEARLN AOL—N
>
25 250 G1/8| Z=EREHA| YITXY N M10x1,25 | ZETER 260 309 R480671121
BEEF| REERN 29L—N
>
25 320 G1/8| Z=EREA| YITXY KN M10x1,25 | ZET XA 260 309 R480671122
BERRE | fEERBN AOL—N
>
25 400 G1/8| ZERHI| ITXRY K~ M10x1,25 | HZXETHEH 260 309 R480671123
BEE| HECAN 245 L=/
>
25 500 G1/8| Z=ERHA| YTXRY b M10x1,25 | ZETER 260 309 R480671124
EEE | FEEAN AIL—N
>

EMERSON.



AVENTICS CCL-IS U —X %3 1) >4 (ISO 4

15552) 2024-01-18
EX b AhO—=72 R—h EAK> EAKY XTUT7ILES
D) [mm] A AFE O HEE
Ll [N] (N]

32 25 G1/8| ZERHA| YT=RY K M10x1,25 | BET XA 435 507 R480060005
EEE | FEEARN ATL—N
>
32 50 G1/8| ZEZHA| YT=RY K M10x1,25 | HRETHM 435 507 R480058830
BEEE | NEEARDN AIL—=/\
>
32 80 G1/8| ZEREHAT| YIXY K M10x1,25 | BEIXEH 435 507 R480060006
BERRE | NEEARDL ATL—=N
>
32 100 G1/8| ZERAHA| YT=RY K M10x1,25 | HETZA 435 507 R480059075
BERE | HEEARN A7L—=N
>
32 125 G1/8| ZEZHA| YT=RY K M10x1,25 | RETHM 435 507 R480060007
BEmE | HEERDN AIL—=/N\
>
32 160 G1/8| ZEREHAT| YIZXY K M10x1,25 | HRETHMA 435 507 R480060008
BERRE | NEEARDL AIL—N
>
32 200 G1/8| ZEREHIT| YIZY N M10x1,25 | BEIT¥HA 435 507 R480060009
HEE | HEEAN 25 L=/
>
32 250 G1/8| ZERHA| YT=RY K M10x1,25 | BEIXMA 435 507 R480060010
BEmE | HEERDN AIL—=/NN
>
32 320 G1/8| ZEREHAT| YIZY K M10x1,25 | BETXA 435 507 R480060011
BERE | NEERDL AIL—=/NN
>
32 400 G1/8| ZEREHIT| YIZY N M10x1,25 | BEI¥HA 435 507 R480060012
HEE | HEEAN 2L—/
>
32 500 G1/8| ZERHA| YXT=RY K M10x1,25 | BET XA 435 507 R480060013
BEmE | HEERLN AL—N
>
40 25 G1/4| ZESRHA| YT=RY K M12x1,25 | BETIXA 665 792 R480060018
BEmE | NEERDN AIL—=/\
>
40 50 G1/4| ZEREHIT| YIXY K M12x1,25| BEIXEH 665 792 R480059528
BERRE | NEEARDL ATL—=N
>
40 80 G1/4| ZERHA| XT=RY K M12x1,25 | HETHA 665 792 R480060019
BEEE | HEEARN A7L—=N
>
40 100 G1/4| ZESRHE| XT=RY K M12x1,25 | BEIXA 665 792 R480060020
BEEE | HEERDN AIL—=/NN
>
40 125 G1/4| ZEREHAT| YIZY K M12x1,25 | BREIHMA 665 792 R480060021
BERRE | NEEARDN AIL—=NN
>
40 160 G1/4| ZERBHIT| YIZY N M12x1,25 | BEI¥H 665 792 R480059526
HEE | HEEAN 25 L=/
>
40 200 G1/4| ZESRHA| YXT=RY K M12x1,25 | BEIXA 665 792 R480060022
BEEE | HEERDN AIL=NN
>

EMERSON.



AVENTICS CCL-IS U —X %3 1) >4 (ISO 5

15552) 2024-01-18
EAbB AkO—2 R—k EANS EANY NTUTINES
N} [mm] A AEE  HEEE
[mm] [N] [N]

40 250 G1/4| ZERHA| YTXRY B M12x1,25 | EET¥#H 665 792 R480060023
EEE | HEERN ATL—=N
>
40 320 G1/4| Z=EREHAY| YTXY KN M12x1,25| BET¥H 665 792 R480060024
BEMEE | HEERBN ATL—=NI
>
40 400 G1/4| Z=EREHA| YXTXY KN M12x1,25 | ZET¥H 665 792 R480059529
BEEE | HEEARRN AOL—=N
>
40 500 G1/4| Z=ERHA| YXTXRY M12x1,25 | BETEMH 665 792 R480060025
HEE | HEEAR Z7L—/
>
50 25 G1/4| ZERHA| XTXRY B M16x1,5| BEIHA 1039 1237 R480060026
REMRE | HEERN ATL—=NI
>
50 50 G1/4| ZERHAI| XTXRY B M16x1,5| ZEETIH¥H 1039 1237 R480060027
REMEE | HEEARN AOL—=N
>
50 80 G1/4| ZEREHA| YXTXY BN M16x1,5| ZETEH 1039 1237 R480060028
REEE | HEEABN AOL—N
>
50 100 G1/4| ZERHA| XTXRY B M16x1,5| ZBEIHERA 1039 1237 R480060029
REMRE | HEERN ATL—=N
>
50 125 G1/4| Z=EREHA| YTXY N M16x1,5| BEIXEHA 1039 1237 R480060030
BERE | NEEAN AOL—=N
>
50 160 G1/4| Z=EREHA| YTXY KN M16x1,5| ZEEIHH 1039 1237 R480060031
HEE | HECAR 25L—/%
>
50 200 G1/4| ZERHA| YXTXRY M16x1,5| ZBEIERA 1039 1237 R480060032
BEfRE | HEERN ATL—=N
>
50 250 G1/4| Z=EREHAY| YTXY N M16x1,5| BEIXEHA 1039 1237 R480060033
BEMEE | HEERBN ATL—=N
>
50 320 G1/4| Z=EREHA| YXTXY KN M16x1,5| ZETIHH 1039 1237 R480060034
BEEE | HEEARN AOL—=NI
>
50 400 G1/4| Z=ERHA| XTXRY S M16x1,5| ZEEIEH 1039 1237 R480058941
HEE | HEEAR 27L—/
>
50 500 G1/4| ZERHA| XTXRY B M16x1,5| BEIHERA 1039 1237 R480060035
BEMEE | HEERN ATL—=N
>
63 25 G3/8| ZERHAI| YTXRY B M16x1,5| ZETH¥HA 1766 1964 R480060036
REMEE | HEEARN AOL—=N
>
63 50 G3/8| ZEREHA| YITERY KN M16x1,5| ZETEH 1766 1964 R480058890
REREE | HEEALN AOL—N
>
63 80 G3/8| Z=ERHAI| YITXRY B M16x1,5| ZBEIXERA 1766 1964 R480060037
REMRE | HEERN ATL—=NI
>

EMERSON.



AVENTICS CCL-IS U —X %3 1) >4 (ISO 6

15552) 2024-01-18
EAbB AkO—2 R—k EANS EANY XTUTILES
> @ [mm] A AEE  HEEE
[mm] [N] [N]

63 100 G3/8| ZEREHA| YIXY K M16x1,5| ZBEIXER 1766 1964 R480060038
EEE | HEERN AIL—N
>
63 125 G3/8| ZERHAI| YTXRY B M16x1,5| BEIXHA 1766 1964 R480060039
BEMEE | HEERBN ATL—=NI
>
63 160 G3/8| Z=EREA| YITXY KN M16x1,5| ZETIHH 1766 1964 R480060040
BEEE | HEEARRN AIL—=N
>
63 200 G3/8| ZERHA| YITXRY M16x1,5| ZEEIEH 1766 1964 R48006004 1
R | FEEAN AoL—N
>
63 250 G3/8| ZERHAI| YITXRY B M16x1,5| BEIHA 1766 1964 R480060043
REMRE | HEERN ATL—=NI
>
63 320 G3/8| ZERHAI| YTXRY B M16x1,5| ZEETIH¥H 1766 1964 R480060042
REMEE | HEEARN AOL—=N
>
63 400 G3/8| Z=EREHA| YITERY KN M16x1,5| ZETEH 1766 1964 R480060044
REEE | HEEABN AoL—N
>
63 500 G3/8| Z=ERHAI| YITXRY B M16x1,5| ZBEIHERA 1766 1964 R480060045
REMRE | HEERN ATL—=N
>
80 25 G3/8| ZERHAI| YTXRY B M20x1,5| BEIXHA 2857 3167 R480060060
BERE | NEEAN AOL—=N
>
80 50 G3/8| Z=EREA| YITXY KN M20x1,5 | ZEEIX¥H 2857 3167 R480060061
HEE | HEEAN 2L—/
>
80 80 G3/8| ZEREHA| YJXY K M20x1,5| ZBEIXERA 2857 3167 R480060063
BEfRE | HEERN AIL—N
>
80 100 G3/8| ZERHAI| YTXRY B M20x1,5| BEIXHA 2857 3167 R480060064
BEMEE | HEERBN ATL—=N
>
80 125 G3/8| Z=EREA| YITXY KN M20x1,5 | ZEETIHH 2857 3167 R480059699
BEEE | HEEARN AIL—=N
>
80 160 G3/8| ZERHA| YITXRY M20x1,5| ZEEIEH 2857 3167 R480060065
HEE| HEERN 29 L—/
>
80 200 G3/8| ZERHAI| YITXRY B M20x1,5| BEIXA 2857 3167 R480059532
BEMEE | HEERN ATL—=N
>
80 250 G3/8| ZERHAI| YTXRY B M20x1,5 | ZEETH¥HA 2857 3167 R480060066
REMEE | HEEARN AOL—=N
>
80 320 G3/8| ZEREHA| YITERY KN M20x1,5 | ZEETEH 2857 3167 R480060067
REREE | HEEALN AoL—N
>
80 400 G3/8| Z=ERHAI| YITXRY B M20x1,5| ZBEIHEHA 2857 3167 R480060068
REMRE | HEERN ATL—=NI
>

EMERSON.



AVENTICS CCL-IS U —X %3 1) >4 (ISO 7

15552) 2024-01-18
EAbB AkO—2 R—k EANS EANY NTUTINES
N} [mm] A AEE  HEEE
[mm] [N] [N]

80 500 G3/8| ZERHA| YIXRY B M20x1,5| ZBEIXER 2857 3167 R480060069
EEE | HEERN ATL—=N
>
100 25 G1/2| Z=EREHAY| YITXY N M20x1,5| BEIXHA 4639 4948 R480060070
BEMEE | HEERBN ATL—=NI
>
100 50 G1/2| Z=EREHA| YTXY KN M20x1,5 | ZEETIHH 4639 4948 R480060071
BEEE | HEEARRN AOL—=N
>
100 80 G1/2| Z=ERHA| YXTXRY b M20x1,5| ZEEIEH 4639 4948 R480060072
R | FEEAN AOL—N
>
100 100 G1/2| ZERHA| XTXRY b M20x1,5| BEIXA 4639 4948 R480060073
REMRE | HEERN ATL—=NI
>
100 125 G1/2| Z=EREHA| YTXY KN M20x1,5| BEIXHA 4639 4948 R480060074
REMEE | HEEARN AOL—=N
>
100 160 G1/2| Z=EREHA| YTxRY N M20x1,5| ZEITHH 4639 4948 R480060075
REEE | HEEABN AOL—N
>
100 200 G1/2| Z=ERHA| YTXRY b M20x1,5| ZBEIXRA 4639 4948 R480060076
REMRE | HEERN ATL—=N
>
100 250 G1/2| Z=EREHA| YTXY N M20x1,5| BEIXHA 4639 4948 R480058909
BERE | NEEAN AOL—=N
>
100 320 G1/2| Z=EREHA| YXTXY KN M20x1,5 | ZEEIX¥H 4639 4948 R480060077
HEREE | FEEALN AOL—N
>
100 400 G1/2| Z=ERHA| YTXRY M20x1,5| ZBEIXERA 4639 4948 R480060078
BEfRE | HEERN ATL—=N
>
100 500 G1/2| Z=EREHAY| YTXY N M20x1,5| BEIXHA 4639 4948 R480060079
BEMEE | HEERBN ATL—=N
>
125 25 G1/2| Z=EREHA| YXTXY KN M27x2 | BEITHHA 7224 7731 R480060080
BEEE | HEEARN AOL—=NI
>
125 50 G1/2| Z=ERHA| XTXRY b M27x2 | BETHA 7224 7731 R480060081
HEE | HEEAR 27L—/
>
125 80 G1/2| ZERHA| XTXRY B M27x2 | EETER 7224 7731 R480060082
BEMEE | HEERN ATL—=N
>
125 100 G1/2| Z=EREHA| YTXY KN M27x2 | BETHHA 7224 7731 R480060083
REMEE | HEEARN AOL—=N
>
125 125 G1/2| Z=EREHA| YTRY N M27x2 | BETHA 7224 7731 R480060084
HEE | HEEAN 2oL —/%
4
125 160 G1/2| Z=ERHA| YTXRY B M27x2 | EETER 7224 7731 R480060085
REMRE | HEERN ATL—=NI
>

EMERSON.



AVENTICS CCL-IS U —X %3 1) >4 (ISO 8

15552) 2024-01-18
EAN AkO—7 R—K =E EANY EANY NTUTINES
D', [mm] A AEE  HEEE
[mm] [N] [N]

125 200 G1/2| ZERHA| IYJZY K M27x2 | EETER 7224 7731 R480060086
EEE | HEERN AIL—N
>
125 250 G1/2| ZERHA| XTXRY b M27x2 | EETER 7224 7731 R480060087
BEMEE | HEERBN ATL—=NI
>
125 320 G1/2| Z=EREHA| YTXY KN M27x2 | BEETIHHA 7224 7731 R480140649
BEEE | HEEARRN AOL—=N
>
125 400 G1/2| Z=ERHA| YXTXRY b M27x2 | BEIH¥R 7224 7731 R480060089
HEE| HEERN 25 L—/
>
125 500 G1/2| ZERHA| XTXRY b M27x2 | EETER 7224 7731 R480060091
REMRE | HEERN ATL—=NI
>

EMERSON.



AVENTICS CCL-IS U —X %3 1) >4 (ISO 9

15552) 2024-01-18
Dp-S
225-63
ZJ+S
L8+S
L2
E
BG BG
A L3
l——— =
==~ o
(] <
m A Ll r I D A
Q H % Q
v
>< e e
VD VA
WH
G G
sw PL EE LA
KW
m
B -
EH _ ;€§ \@\
D)
@ 9
= 1 k o
g —
1 *
LA PL )
280 - 125
2J+S
L8+S E
L2 VA
A VD
<
m B 1 1 o
Q Q
< R ZZZ N
* = 2
==Y N N2
WH
BG BG
G G
PL EE LA
KW

MM
M
L
\|
0
i =
i 1
@
oo
LB

I —

(O

LA PL

s=AkO—7
*7O—#HRAOUI— (1) BRABAIYSIVREOIUIA—ICEVT—DETOBEEZL>TVET,

EMERSON.



AVENTICS CCL-IS U —X %3 1) >4 (ISO

15552) 2024-01-18
EARY @ A @B / ZBA d11 B1 BG mm 5 EE G H KK Y
25 22 24 38 12,5 405 G1/8 20 3.1 M10x1,25 16
32 22 30 38 16 495 G1/8 27.75 3.1 M10x1,25 16
40 24 35 3.8 16 57.5 G1/4 33.25 3.1 M12x1,25 18
50 32 40 3.8 16 69.5 G1/4 31 3.1 M16x1,5 24
63 32 45 38 16 79.5 G3/8 38,25 3.1 M16x1,5 24
80 40 45 3.8 17 98 G3/8 38,25 3.1 M20x1,5 30
100 40 55 3.8 17 115,5 G112 42,25 3.1 M20x1,5 30
125 54 60 38 20 145 G112 54 3.1 M27x2 41
25 5 16 5 74 10,4 135 6 12 45 10.3 M5
32 5 16 5 94 £0,4 20.75 7 12 4 15.75 M6
40 6 18.25 5 105 0,7 22.75 8 16 5 16.75 M6
50 8 25 5 106 0,7 20 12 20 7.7 16 YE
63 8 25 5 121 40,8 27,25 11 20 11 19,25 M8
80 10 33 - 128 +0,8 20,25 15 25 12 16,75 M10
100 10 36 - 138 +1 24,25 14 25 17 19,25 M10
125 13,5 45 - 160 1 255 4 32 27,5 20 M12
ERALY @ Sw TG VA ) WH zJ
25 10 26 £0,4 - - 24 +1,4 98
32 10 32,5+0,5 4 4 26 +1,4 120
40 13 38 0,5 4 5 30 1,4 135
50 17 46,5 10,6 4 5 37 £1,4 143
63 17 56,5 +0,7 4 5 37 £1,8 158
80 22 72207 4 5 46 +1,8 174
100 22 89 10,7 4 5 51:1,8 189
125 27 110 1,1 6 6 65 12,2 225
Q

EMERSON.




AVENTICS CCL-IS U —X %3 1) >4 (ISO

15552)

11
2024-01-18

1ISO 15552, /') —X CCL-IS

ISO 15552

B —

ERNITOERICES
ATEX THA7> 3>

&L B

ER

RTFY RMIEEANY

2 SR T RE R

U
it U

ERNITOERICES

LTI EE

F7° a3 TEMmMG
ATEX TA7>a>

=

e

EXANY @ AbMO—2 BEHWEANY AOL—=N EANY NTUTILES
[mm] [mm] B AKBE
[N]

32 25 G1/8 BRE| XTZRY MY M10x1,25 | EEIEAX 435 R480193041
EEANY oL—N

32 50 G1/8 BRE| XTERY M M10x1,25 | BT EAR 435 R480164229
EEARNY gL—N

32 80 G1/8 ERE| XTxRY MM M10x1,25 | 2ETHHAR 435 R480189168
EEANY gL—N

32 100 G 1/8 ERE| XNTxRY MY M10x1,25 | EZBETEH A 435 R480181243
EEANY gL—N

32 125 G1/8 ERE| XTERY M M10x1,25 | BEIEHAA 435 R480193155
EEANY oL—N

32 160 G1/8 ERE| XTERY M M10x1,25 | EETEAX 435 R480156543
EEARNY gL—N

32 200 G1/8 BRE| ITERY ME M10x1,25 | BETHHR 435 R480193156
EEANY gL—N

32 250 G1/8 ZERE| XTxY MM M10x1,25 | BEIEAA 435 R480185615
EEANY oL—N

32 320 G1/8 ERE| XTERY M M10x1,25 | BRI EAR 435 R480193157
EEARNY oL—N\

32 400 G1/8 BRE| ITERY MY M10x1,25 | BETEHR 435 R480193158
EEANY gL—N

32 500 G1/8 BRE| XTZRY MY M10x1,25 | EEIEAX 435 R480193159
EEANY oL—N

40 25 G 1/4 BRE| XTERY M M12x1,25 | @RETEAR 665 R480193160
EEARNY gL—N

40 50 G1/4 ERE| XTxRY MM M12x1,25 | 2ETHHAR 665 R480191357
EEANY gL—N

40 80 G 1/4 ERE| IRV NS M12x1,25 | EEETEH A 665 R480193161
EEANY gL—N

40 100 G1/4 ERE| XTERY MY M12x1,25 | BEIEHRA 665 R480193162
EEANY oL—N

40 125 G1/4 ERE| XTERY M M12x1,25 | BETEAX 665 R480193163
EEARNY gL—N

EMERSON.



AVENTICS CCL-IS U —X %3 1) >4 (ISO 12

15552) 2024-01-18
EANY @ ANO—7 R—bK R=E AOL—=N EANY XTUTILES
[mm] [mm] H AFE
[N]

40 160 G1/4 BRE| ITERY MM M12x1,25 | BETEA A 665 R480193164
EEANY gL—N

40 200 G1/4 ERE| NTxRY MY M12x1,25 | EZBETEH A 665 R480193165
EEANY gL—N

40 250 G 1/4 ZERE| YIERY MM M12x1,25 | f@R#TEHAR 665 R480190116
EEANY gL—N

40 320 G1/4 ERE| XTxRY NN M12x1,25 | BETER X 665 R480193166
EEANY gL—N

40 400 G1/4 BRE| XTxRY NN M12x1,25 | BETHHR 665 R480193167
EEANY gL—N

40 500 G 1/4 ZERE| YUERY MM M12x1,25 | BEIEARX 665 R480193168
EEARNY oL—N

50 25 G1/4 BRE| XTERY MM M16x1,5 | BETEAR 1039 R480140572
EEARNY oL—N

50 50 G1/4 BRE| ITERY MM M16x1,5| BEIEARA 1039 R480178656
EEANY gL—N

50 80 G 1/4 ZERE| YUERY NN M16x1,5 | BEIEAR 1039 R480193169
EEANY oL—N

50 100 G 1/4 BRE| XTERY MM M16x1,5| BEIEARA 1039 R480178406
EEARNY oL—N

50 125 G1/4 BRE| ITERY MM M16x1,5| BEIEAA 1039 R480140573
EEANY oL—N

50 160 G1/4 ERE| XNTxRY MY M16x1,5| ZETERAR 1039 R480193170
EEANY gL—N

50 200 G1/4 ERE| XTxRY MM M16x1,5 | BEIERA 1039 R480193171
EEANY gL—N

50 250 G1/4 ERE| XTxRY NN M16x1,5 | BETEAR 1039 R480193172
EEANY oL—N

50 320 G1/4 ERE| XTxY MY M16x1,5| ZEITEAR 1039 R480193173
EEANY gL—N

50 400 G1/4 ZERE| YUERY MM M16x1,5| BEIEARA 1039 R480193174
EEANY oL—N

50 500 G1/4 BRE| XTERY MM M16x1,5 | BETEAR 1039 R480193175
EEARNY gL—N

63 25 G 3/8 BRE| ITERY MM M16x1,5| BEIEARA 1766 R480161345
EEANY gL—N

63 50 G 3/8 ZERE| YTERY NN M16x1,5| BEIEAR 1766 R480192685
EEANY oL—N

63 80 G 3/8 BRE| XTERY MM M16x1,5| BEIEARA 1766 R480140270
EEARNY oL—N

63 100 G 3/8 BRE| ITERY MM M16x1,5| BEIEAA 1766 R480193176
EEANY gL—N

63 125 G 3/8 ERE| XNTxRY MY M16x1,5| ZETERAR 1766 R480068035
EEANY gL—N

63 160 G 3/8 ERE| XTxRY MM M16x1,5 | BEIERA 1766 R480193177
EEANY gL—N

63 200 G3/8 ERE| XTxRY NN M16x1,5 | BETEAR 1766 R480153420
EEANY oL—N

63 250 G 3/8 ERE| XTxY MY M16x1,5| ZEITERAR 1766 R480193178
EEANY gL—N

EMERSON.



AVENTICS CCL-IS U —X %3 1) >4 (ISO 13

15552) 2024-01-18
EANY @ ANO—7 R—bK R=E AOL—=N EANY XTUTILES
[mm] [mm] H AFE
[N]

63 320 G 3/8 BRE| ITERY MM M16x1,5| BEIEAA 1766 R480193179
EEANY gL—N

63 400 G 3/8 ERE| NTxRY MY M16x1,5| ZETERAR 1766 R480193180
EEANY gL—N

63 500 G 3/8 ERE| XTxRY MM M16x1,5 | BEIERA 1766 R480193181
EEANY gL—N

80 25 G 3/8 ERE| XTxRY NN M20x1,5 | BETEAR 2857 R480193182
EEANY gL—N

80 50 G 3/8 BEE| XTxY N M20x1,5| BEITERA 2857 R480190899
EEANY gL—N

80 80 G 3/8 ZERE| YUERY MM M20x1,5 | BEIEARA 2857 R480193183
EEARNY oL—N

80 100 G 3/8 BRE| XTRY NN M20x1,5 | BETEAR 2857 R480140266
EEARNY oL—N

80 125 G 3/8 BRE| ITERY MM M20x1,5| BEIEARA 2857 R480178891
EEANY gL—N

80 160 G 3/8 ZERE| YUERY NN M20x1,5 | BEIEAR 2857 R480183597
EEANY oL—N

80 200 G 3/8 BRE| XTERY MM M20x1,5 | BEIEARA 2857 R480193184
EEARNY oL—N

80 250 G 3/8 BRE| ITERY MM M20x1,5| BEIEAA 2857 R480174928
EEANY oL—N

80 320 G 3/8 ERE| XNTxRY MY M20x1,5 | ZXETERAR 2857 R480193185
EEANY gL—N

80 400 G 3/8 ERE| XTxRY MM M20x1,5 | BEIERA 2857 R480189967
EEANY gL—N

80 500 G3/8 ERE| XTxRY NN M20x1,5 | BETEAR 2857 R480193186
EEANY oL—N

100 25 G1/2 ZERE| NTERY NN M20x1,5| BEIEARA 4639 R480193187
EEANY gL—N

100 50 G1/2 ZERE| YUERY MM M20x1,5 | BEIEARA 4639 R480193188
EEANY oL—N

100 80 G1/2 BRE| XTRY MM M20x1,5 | BETEAR 4639 R480193189
EEARNY gL—N

100 100 G112 BRE| ITERY MM M20x1,5| BEIEARA 4639 R480173536
EEANY gL—N

100 125 G1/2 ZERE| YTERY NN M20x1,5 | BEIEAR 4639 R480193190
EEANY oL—N

100 160 G1/2 BRE| XTERY MM M20x1,5 | BEIEARA 4639 R480193191
EEARNY oL—N

100 200 G112 BRE| ITERY MM M20x1,5| BEIEAA 4639 R480193192
EEANY gL—N

100 250 G1/2 ERE| XNTxRY MY M20x1,5 | ZXETERAR 4639 R480179848
EEANY gL—N

100 320 G1/2 ERE| XTxRY MM M20x1,5 | BEIERA 4639 R480193193
EEANY gL—N

100 400 G1/2 ERE| XTxRY NN M20x1,5 | BETEAR 4639 R480193194
EEANY oL—N

100 500 G1/2 ERE| XTxY MY M20x1,5 | ZETEAR 4639 R480193195
EEANY gL—N

EMERSON.



AVENTICS CCL-IS 1) —X &% 1) > & (ISO 14
15552) 2024-01-18
EANY @ AMA—72 BRIEAKN> EAB AOL—=N EANY XTUTILES
[mm] [mm] ERL A ABE
[N]
125 25 G1/2 ERE| XY MY M27x2 | BETERAA 7224 R480193196
EEANY gL—N
125 50 G1/2 ERE| XTZY M M27x2 | BEIERARA 7224 R480193200
EEANY oL—N
125 80 G1/2 ERE| NTXRY M M27x2 | BETEAR 7224 R480193201
EEANY L=
125 100 G1/2 ERE| NTxRY MY M27x2 | BETERAR 7224 R480193202
EEANY oL—N
125 125 G1/2 ERE| XTxRY MY M27x2 | BETERAA 7224 R480178609
EEANY oL—N
125 160 G1/2 ERE| NTERY MY M27x2 | BETEAR 7224 R480193203
EEANY oL—N
125 200 G1/2 ERE| NTxRY MM M27x2 | BEETEAR 7224 R480193204
EEANY oL—N
125 250 G1/2 ERE| XTxY M M27x2 | BETERA 7224 R480193205
EEANY oL—N
125 320 G1/2 ERE| XY MY M27x2 | BETEAR 7224 R480193206
EEANY oL—N
125 400 G1/2 ERE| XTIV MM M27x2 | BEETERAR 7224 R480193207
EEANY oL—N
125 500 G1/2 ERE| NIV MY M27x2 | BETERAA 7224 R480193208
EEANY oL—N

EMERSON.



AVENTICS CCL-IS 1) — X %3, 1) > & (ISO 15
15552) 2024-01-18
ik
@32-63 s
L8+S
<2
BG BG
A L3 VD A
2]
-y -
i e e -8
§ 7777% A% .o =
VD L3
WH
ZM+2xS
G G
swW = EE =
KW, .
el | Sl ——Buh
UL @ [
s §
: = *
" i (™)
280 - 125
2+
L8+S
L2
LA LA
A VD VD A
jun]
mL gaaiie N | | =
S
. O
>4 s =
WH
BG BG
ZM+2xS
G G
PL EE LA
KW /SW .
P
. & . —
TR i A e I S < SR
\
ay
LA PL

S=2Z2k0O—7

*TO—#HAIUI— (1) BRABAIYSIVRAEOIU A —ICEVT—DETOBEEZE>TVET,

EMERSON.



AVENTICS CCL-IS 1) — X %3, 1) > & (ISO 16
15552) 2024-01-18
EARY @ A @B / ZBA d11 B1 BG &/ E EE G H KK Y
32 22 30 3.8 16 495 G1/8 27.75 3.1 M10x1,25 16
40 24 35 38 16 57.5 G1/4 33.25 3.1 M12x1,25 18
50 32 40 3.8 16 69.5 G1/4 31 3.1 M16x1,5 24
63 32 45 3.8 16 795 G3/8 38.25 3.1 M16x1,5 24
80 40 45 38 17 98 G3/8 38.25 3.1 M20x1,5 30
100 40 55 3.8 17 115.5 G1/2 42.25 3.1 M20x1,5 30
125 54 60 3.8 20 145 G112 54 3.1 M27x2 41
EANY @ KW L2 L3 & L8 LA LB MM f8 P PL RT
32 5 16 5 94 0,4 20.75 7 12 4 15.75 M6
40 6 18.25 5 105 £0,7 22.75 8 16 5 16.75 M6
50 8 25 5 106 +0,7 20 12 20 7.7 16 M8
63 8 25 5 1210,8 27.25 11 20 11 19.25 M8
80 10 33 - 128 0,8 20.25 15 25 12 16.75 M10
100 10 36 - 138 +1 24.25 14 25 17 19.25 M10
125 13.5 45 - 160 +1 255 4 32 27.5 20 M12
EANY @ S TG VA VD WH ZJ M
32 10 32,5 40,5 4 4 26 1,4 120 146
40 13 38£0,5 4 5 30 £1,4 135 165
50 17 46,5 +0,6 4 5 37 £1,4 143 180
63 17 56,5 +0,7 4 5 37 £1,8 158 195
80 22 72207 4 5 46 +1,8 174 220
100 22 89 10,7 4 5 51:1,8 189 240
125 27 110 1,1 6 6 65 +2,2 225 290
Q

EMERSON.



AVENTICS CCL-IS U —X %3 1) >4 (ISO

15552)

17
2024-01-18

1ISO 15552, /') —X CCL-IS

ISO 15552

B —

RARE

ERNITOERICES

& LBt

HEREERRREELL

A

RTFY RMIEEANY
EERHREE

U
it U

ERNITOERICES

LTI EE

EA L A~O—2 R—K EANY XTUT7ILES
> @ [mm] h HAmE
[mm] [N]
32 25 G1/8| Z=ERHA| YITXRY B M10x1,25 | #i@EéExfA 435 507 R481609634
EEE | [HEERN EEEL
>
32 50 G1/8| Z=EREA| YITXY KN M10x1,25 | EZiRiEEH 435 507 R481609635
BT | fEERAL EEEL
>
32 80 G1/8| ZERHIT| XTIV K~ M10x1,25 | EZiRiEEA 435 507 R481609636
HERE | FEEAN RBEEL
>
32 100 G1/8| Z=ERHA| YTXRY M10x1,25 | %2/RiEERA 435 507 R481609637
BT | FEEAN REEL
>
32 125 G1/8| Z=EREA| YITXY KN M10x1,25 | #i@EéxfA 435 507 R481609638
HERE | FEEAN EEEL
>
32 160 G1/8| ZERHA| XTIV K~ M10x1,25 | EZiRiEEM 435 507 R481609639
BEEE | EEAR RBEEL
>
32 200 G1/8| ZEREHA| YITXVY N M10x1,25 | $iRiEERA 435 507 R481609640
R | FEEAN REEL
>
32 250 G1/8| Z=EREHH| YITXY KN M10x1,25 | #i@EExfA 435 507 R481609641
BEEE | fEEAL REEEL
>
32 320 G1/8| Z=EREA| YITXY KN M10x1,25 | EZiRiEERA 435 507 R481609642
BEEE | fEEAL RBEEL
>
32 400 G1/8| ZERHI| XITXRY K~ M10x1,25 | $2iRiEEA 435 507 R481609643
BT | FEEAN EEEL
>
32 500 G1/8| Z=ERHA| YITXRY B M10x1,25 | #i@EéExfA 435 507 R481609644
EEE | HEERN EEEL
>
40 25 G1/4| Z=EREHA| YTXY KN M12x1,25 | Fi@Edxf 665 792 R481609645
BT | fEERAL EEEL
>

EMERSON.



AVENTICS CCL-IS U —X %3 1) >4 (ISO 18

15552) 2024-01-18
EAbB AkO—2 R—k EANS EANY XTUTILES
> @ [mm] A AEE  HEEE
[mm] [N] [N]

40 50 G1/4| ZERHA| IXJZY N M12x1,25 | EiR:EEMA 665 792 R481609646
EEE | HEERN EEL
>
40 80 G1/4| ZERHA| XTXRY B M12x1,25| EzJRiEExM 665 792 R481609647
BEEE | EERR REEL
>
40 100 G1/4| Z=EREHA| YXTXY KN M12x1,25 | &z 665 792 R481609648
BEEE | HEEARRN REEL
>
40 125 G1/4| Z=ERHA| YXTXRY M12x1,25 | EiREEfA 665 792 R481609649
BEREE | FEERN REEL
>
40 160 G1/4| ZERHA| XTXRY B M12x1,25| BZJRiEEHA 665 792 R481609650
BEEE | HEERAR REEL
>
40 200 G1/4| ZERHAI| XTXRY B M12x1,25 | EzJRiEEMA 665 792 R481609651
REMEE | HEEARN REEL
>
40 250 G1/4| ZEREHA| YXTXY BN M12x1,25 | EiREExfA 665 792 R481609652
REEE | FEERN REEL
>
40 320 G1/4| ZERHA| XTXRY B M12x1,25 | BZJRiEEHA 665 792 R481609653
REMRE | HEERN REEL
>
40 400 G1/4| ZERHAI| XTXRY B M12x1,25| EzJRiEExM 665 792 R481609654
BERE | NEEAN EEEL
>
40 500 G1/4| Z=EREHA| YTXY KN M12x1,25 | EiREExfA 665 792 R481609655
BEEE | fEERR REEL
>
50 25 G1/4| ZERHA| IYJZY N M16x1,5 | EiREEMA 1039 1237 R481609656
BEREE | EERN EEL
>
50 50 G1/4| ZERHA| XTXRY B M16x1,5| FIRIEELA 1039 1237 R481609657
BEEE | HEERAR EEEL
>
50 80 G1/4| Z=EREHA| YXTXY KN M16x1,5 | FiREERA 1039 1237 R481609658
BEEE | HEEARN REEL
>
50 100 G1/4| Z=ERHA| XTXRY S M16x1,5 | EREEA 1039 1237 R481609659
BEREE | FEERN REEL
>
50 125 G1/4| ZERHA| XTXRY B M16x1,5 | BB 1039 1237 R481609660
BEREE | HEERAR REEL
>
50 160 G1/4| ZERHAI| XTXRY B M16x1,5 | @& 1039 1237 R481609661
REMEE | HEEARN REEL
>
50 200 G1/4| ZERHA| YXTRY BN M16x1,5 | FREERA 1039 1237 R481609662
REREE | FEERN REEL
>
50 250 G1/4| ZERHA| XTXRY B M16x1,5| HIREEA 1039 1237 R481609663
REMRE | HEERN REEL
>

EMERSON.



AVENTICS CCL-IS U —X %3 1) >4 (ISO 19

15552) 2024-01-18
EAbB AkO—2 R—k EANS EANY NTUTINES
N} [mm] A AEE  HEEE
[mm] [N] [N]

50 320 G1/4| ZERHA| YTXRY B M16x1,5 | EiREEA 1039 1237 R481609664
EEE | HEERN EEL
>
50 400 G1/4| Z=EREHAY| YTXY KN M16x1,5| HIREELA 1039 1237 R481609665
BEEE | EERR REEL
>
50 500 G1/4| Z=EREHA| YXTXY KN M16x1,5 | FiREERA 1039 1237 R481609666
BEEE | HEEARRN REEL
>
63 25 G3/8| ZERHA| YITXRY M16x1,5 | EREEA 1766 1964 R481609667
BEfRE | HEERN REEL
>
63 50 G3/8| ZERHAI| YITXRY B M16x1,5| HIRIEELA 1766 1964 R481609668
BEEE | HEERAR REEL
>
63 80 G3/8| Z=EREA| YITXVY KN M16x1,5 | @& 1766 1964 R481609669
REMEE | HEEARN REEL
>
63 100 G3/8| Z=EREHA| YITERY KN M16x1,5 | FiREERA 1766 1964 R481609670
BEfRE | fEERN REEL
>
63 125 G3/8| Z=ERHAI| YITXRY B M16x1,5| HIREEA 1766 1964 R481609671
REMRE | HEERN REEL
>
63 160 G3/8| ZERHAI| YTXRY B M16x1,5| FIREEXA 1766 1964 R481609672
BERE | NEEAN EEEL
>
63 200 G3/8| Z=EREA| YITXY KN M16x1,5 | FREERA 1766 1964 R481609673
BEfRE | fEERLN REEL
>
63 250 G3/8| Z=ERHA| YIXRY B M16x1,5 | EiREEMA 1766 1964 R481609674
BEfRE | HEERN EEL
>
63 320 G3/8| Z=EREH| YITXY KN M16x1,5| FIRIEELA 1766 1964 R481609675
BEEE | HEERAR EEEL
>
63 400 G3/8| Z=EREA| YITXY KN M16x1,5 | FiREERA 1766 1964 R481609676
BEEE | HEEARN REEL
>
63 500 G3/8| ZERHA| YITXRY M16x1,5 | EREEA 1766 1964 R481609677
BEfRE | HEERN REEL
>
80 25 G3/8| ZERHAI| YITXRY B M20x1,5 | RSB 2857 3167 R481609678
BEREE | HEERAR REEL
>
80 50 G3/8| Z=EREA| YITXY KN M20x1,5 | Fi@EExfA 2857 3167 R481609679
REMEE | HEEARN REEL
>
80 80 G3/8| ZEREHA| YITERY KN M20x1,5 | @& 2857 3167 R481609680
BEfRE | EERN REEL
>
80 100 G3/8| Z=ERHAI| YITXRY B M20x1,5| HIREEA 2857 3167 R481609681
REMRE | HEERN REEL
>

EMERSON.



AVENTICS CCL-IS U —X %3 1) >4 (ISO 20

15552) 2024-01-18
EAbB AkO—2 R—k EANS EANY NTUTINES
N} [mm] A AEE  HEEE
[mm] [N] [N]

80 125 G3/8| ZERHA| YIXRY B M20x1,5 | EiREEMA 2857 3167 R481609682
EEE | HEERN EEL
>
80 160 G3/8| Z=EREH| YITXY N M20x1,5| HIREELA 2857 3167 R481609683
BEEE | EERR REEL
>
80 200 G3/8| Z=EREA| YITXY KN M20x1,5 | EiREERfA 2857 3167 R481609684
BEEE | HEEARRN REEL
>
80 250 G3/8| ZERHA| YITXRY M20x1,5 | EREEMA 2857 3167 R481609685
BEfRE | HEERN REEL
>
80 320 G3/8| ZERHAI| YITXRY B M20x1,5| HIREELA 2857 3167 R481609686
BEEE | HEERAR REEL
>
80 400 G3/8| ZERHAI| YTXRY B M20x1,5 | Fi@EExfA 2857 3167 R481609687
REMEE | HEEARN REEL
>
80 500 G3/8| Z=EREHA| YITERY KN M20x1,5 | EREERMA 2857 3167 R481609688
BEfRE | fEERN REEL
>
100 25 G1/2| Z=ERHA| YTXRY b M20x1,5| HIREEA 4639 4948 R481609689
REMRE | HEERN REEL
>
100 50 G1/2| Z=EREHA| YTXY N M20x1,5| FIREEA 4639 4948 R481609690
BERE | NEEAN EEEL
>
100 80 G1/2| Z=EREHA| YXTXY KN M20x1,5 | EiREERfA 4639 4948 R481609691
BEfRE | fEERLN REEL
>
100 100 G1/2| Z=ERHA| YTXRY M20x1,5 | EiREEMA 4639 4948 R481609692
BEfRE | HEERN EEL
>
100 125 G1/2| Z=EREHAY| YTXY N M20x1,5| FIREEA 4639 4948 R481609693
BEEE | HEERAR EEEL
>
100 160 G1/2| Z=EREHA| YXTXY KN M20x1,5 | EiREERfA 4639 4948 R481609694
BEEE | HEEARN REEL
>
100 200 G1/2| Z=ERHA| XTXRY b M20x1,5 | EREEMA 4639 4948 R481609695
BEfRE | HEERN REEL
>
100 250 G1/2| ZERHA| XTXRY B M20x1,5| HIREELA 4639 4948 R481609696
BEREE | HEERAR REEL
>
100 320 G1/2| Z=EREHA| YTXY KN M20x1,5 | Fi@EExfA 4639 4948 R481609697
REMEE | HEEARN REEL
>
100 400 G1/2| Z=EREHA| YTRY N M20x1,5 | @& 4639 4948 R481609698
BEfRE | EERN REEL
>
100 500 G1/2| Z=ERHA| YTXRY B M20x1,5| HIREEA 4639 4948 R481609699
REMRE | HEERN REEL
>

EMERSON.



AVENTICS CCL-IS U —X %3 1) >4 (ISO 21

15552) 2024-01-18
EAK AbO—72 R—h EAKN> EARNY XTUT7ILES
> o [mm] A AFE O HEE
[mm] [N] [N]

125 25 G1/2| ZERHAY| YXT=RY K M27x2 | EZRIEEA 7224 7731 R481609700
EEE | FEEARN FEEL
>
125 50 G1/2| ZEREHAT| YJZY N M27x2 | BZIRIEERA 7224 7731 R481609701
BB | FEERL FEEL
>
125 80 G1/2| ZERHIT| YIXY K M27x2 | #IREEH 7224 7731 R481609702
BERRE | NEEARDL FEEL
>
125 100 G1/2| ZERBA| YJZY N M27x2 | #IREER 7224 7731 R481609703
BEEE | HEERDN EEEL
>
125 125 G1/2| ZEREHIT| IJZY K M27x2 | BZIRIEERA 7224 7731 R481609704
ReEE | fEERL FEEL
>
125 160 G1/2| ZERHAT| YIZY K M27x2 | #iREEH 7224 7731 R481609705
BERRE | NEEARDL FEEL
>
125 200 G1/2| ZERHA| YJXY N M27x2 | #IREEH 7224 7731 R481609706
BEMEE | HEERDN EEEL
>
125 250 G1/2| ZESRHAY| YXT=RY K M27x2 | IRIEEH 7224 7731 R481609707
BEmE | HEERDN EEEL
>
125 320 G1/2| ZEREHAT| YIZXY K M27x2 | BZIRIEEA 7224 7731 R481609708
BERE | NEERDL FEEL
>
125 400 G1/2| Z=ERHAI| YTxRY B M27x2 | #IREEH 7224 7731 R481609709
BEMEE | FEERDL EEEL
>
125 500 G1/2| ZERHA| YXT=RY K M27x2 | EZRIEEA 7224 7731 R481609710
EREE | FEEARN EEEL
>

EMERSON.



AVENTICS CCL-IS U —X %3 1) >4 (ISO 22

15552) 2024-01-18
ik
@32-63
2J+S
L8+S
L2
T lee BG £
G
A L3 |, . a1
£ i
j S u

B
’4——
C )]
m
|
|
17
i
|
|
@BA
sl
A
— L
fy/
TG
E

< == ==
X 4
VD VA
WH
G G
sw "5 EE LA
Kw
om
M |
E 1 65’/ ,,,,,,,,, f\@
@ LS,
= N o
g —
1y
LA PL @
280 - 125
ZJ+8
L8+s E
L2 VA
A VD

9B
-28
I
|
|
|
|
i
|
@BA

N
< =222 iz
EPr N s
WH
BG BG
G G
PL EE LA
KW sw @
o |
& Q

MM

Rt 6 )
— el .

(O

+

LA PL

S=AKO—7
*7O-HEAAOUI— (1) BBEBAI Y IVREOIUIE—ICEVT—DETOREEZE>TVET,

EMERSON.



AVENTICS CCL-IS 1) — X %3, 1) > & (ISO 23
15552) 2024-01-18
EARY @ A @B / ZBA d11 B1 BG mm E EE G H KK Y
32 22 30 3.8 16 495 G1/8 27.75 3.1 M10x1,25 16
40 24 35 38 16 57.5 G1/4 33.25 3.1 M12x1,25 18
50 32 40 3.8 16 69.5 G1/4 31 3.1 M16x1,5 24
63 32 45 3.8 16 795 G3/8 38,25 3.1 M16x1,5 24
80 40 45 38 17 98 G3/8 38,25 3.1 M20x1,5 30
100 40 55 3.8 17 115,5 G1/2 42,25 3.1 M20x1,5 30
125 54 60 3.8 20 145 G112 54 3.1 M27x2 41
EANY @ KW L2 L3 & L8 LA LB MM f8 P PL RT
32 5 16 5 94 0,4 20.75 7 12 4 15.75 M6
40 6 18.25 5 105 £0,7 22.75 8 16 5 16.75 M6
50 8 25 5 106 +0,7 20 12 20 7,7 16 M8
63 8 25 5 1210,8 27,25 11 20 11 19,25 M8
80 10 33 - 128 0,8 20,25 15 25 12 16,75 M10
100 10 36 - 138 +1 24,25 14 25 17 19,25 M10
125 13,5 45 - 160 +1 25,5 4 32 27,5 20 M12
EANY @ S TG VA VD WH ZJ
32 10 32,5 40,5 4 4 26 1,4 120
40 13 38£0,5 4 5 30 £1,4 135
50 17 46,5 +0,6 4 5 37 £1,4 143
63 17 56,5 +0,7 4 5 37 £1,8 158
80 22 72207 4 5 46 +1,8 174
100 22 89 10,7 4 5 51:1,8 189
125 27 110 1,1 6 6 65 +2,2 225
Q

EMERSON.



AVENTICS CCL-IS ¥ ) —X &% 1) >4 (ISO 24
15552) 2024-01-18

CCL-IS

ISO 15552

Bg ) o 8—
¥REE
ERNITOERICES
=V BEEEHE
MEAIZY N

pag ]

NTZY MIZEERKNY
= ERS AR E
il

Mt U
ERNITOERICES
A7 )L EE

EA L A~O—2 R—K BE AOL—=/N EARK> EANY XTUT7ILES
SN, [mm] HAFE  hHEAE
[mm] [N] [N]
32 25 G1/8| Z=ERHA| YITXRY B M10x1,25 EEAL 435 507 R481609711
EiEE | HEERN AN
>
32 50 G1/8| Z=EREA| YITXY KN M10x1,25 BB A 435 507 R481609712
BEMEE | HEERBN AN
>
32 80 G1/8| ZERHIT| XTIV K~ M10x1,25 HEAL 435 507 R481609713
BEREE | HEEAR —vyh
>
32 100 G1/8| Z=ERHA| YTXRY M10x1,25 HEAL 435 507 R481609714
BEfEE | HEERDN AN
>
32 125 G1/8| Z=EREA| YITXY KN M10x1,25 peipi= gz 435 507 R481609715
HERRE | FEEARLN b N
>
32 160 G1/8| ZERHA| XTIV K~ M10x1,25 BRI 435 507 R481609716
BEMRE | fEERN Zvyh
>
32 250 G1/8| ZEREHA| YITXVY N M10x1,25 HEAL 435 507 R481609718
HERRE | FEEARLN N
>
32 320 G1/8| Z=EREHH| YITXY KN M10x1,25 HERL 435 507 R481609719
HERRE | FEEALS b N
>
32 400 G1/8| Z=EREA| YITXY KN M10x1,25 peibi= gz 435 507 R481609720
BEMRE | EERBN —vyh
>
32 500 G1/8| ZERHI| XITXRY K~ M10x1,25 HEAL 435 507 R481609721
BEiEE | HEEARN N
>
40 25 G1/4| ZERHA| YTXRY B M12x1,25 EERAL 665 792 R481609722
EiEE | HEERN AN
>
40 50 G1/4| Z=EREHA| YTXY KN M12x1,25 peibi= gz 665 792 R481609723
BEMEE | HEERBN AN
>

EMERSON.



AVENTICS CCL-IS U —X %3 1) >4 (ISO 25

15552) 2024-01-18
EAN ANO—2 R—bK BE ERiE . A9L—IN EAK> EANY XTUTILES
> @ [mm] > p ; H ABE J HEmE
[mm] [N] [N]

40 80 G1/4| ZERHI| ITxY N M12x1,25 BEERAL 665 792 R481609724
EEE | fEERAN —vy K
>
40 100 G1/4| ZERHI| ITxY K~ M12x1,25 SRR 665 792 R481609725
HEE| fEERAL i N
>
40 125 G1/4| ZEFRAGHA | YTRY B M12x1,25 BRI 665 792 R481609726
HEEE | fEEARAL N
>
40 160 G1/4| ZERHIT| ITxY N M12x1,25 ﬁ‘%ﬁﬁl 665 792 R481609727
HEREE | HEEARN AN
>
40 200 G1/4| ZERHI| XTxY K M12x1,25 BRI 665 792 R481609728
HEE | fEERAL N
>
40 250 G1/4| ZEFAEGHA | YTXRY B M12x1,25 BRI 665 792 R481609729
HEEE | FEEARAL N
>
40 320 G1/4| ZEHRHAI| YXTZRY B M12x1,25 BRI 665 792 R481609730
HEE | fEEAN AN
>
40 400 G1/4| ZERHT| ITxY N M12x1,25 peip=paz 665 792 R481609731
HEE| fEERAL —vy KN
>
40 500 G1/4| ZEFAEGHA| YTRY B M12x1,25 BRI 665 792 R481609732
HERRE | FEEARL i N
>
50 25 G1/4| ZEHRAHA| YXTRY B M16x1,5 EEAL 1039 1237 R481609733
HeEE | fEEAN AN
>
50 50 G1/4| ZERHI| ITxY N M16x1,5 EERAL 1039 1237 R481609734
HEE| fEEAN —vy K
>
50 80 G1/4| ZERHI| ITxY N M16x1,5 BRI 1039 1237 R481609735
HEE | fEERAN i N
>
50 100 G1/4| ZEHRAGHA | YXTXRY B M16x1,5 EEAL 1039 1237 R481609736
HEEE | FEEARAL il N
>
50 125 G1/4| ZERHI| ITxY N M16x1,5 ﬁ‘%ﬁﬁl 1039 1237 R481609737
HEREE | NHEEARN AN
>
50 160 G1/4| Z=EFAEGHA| YTXRY B M16x1,5 BRI 1039 1237 R481609738
HEE | fEERAL N
>
50 200 G1/4| ZEFAEGHA | YTRY B M16x1,5 BRI 1039 1237 R481609739
HEEE | fEERAN N
>
50 250 G1/4| ZEHRAHAI| YXTRY B M16x1,5 EEAL 1039 1237 R481609740
HEE | fEEAN AN
>
50 320 G1/4| ZERHI| ITxY N M16x1,5 peip=paz i 1039 1237 R481609741
HEE| fEERAN N
>

EMERSON.



AVENTICS CCL-IS U —X %3 1) >4 (ISO 26

15552) 2024-01-18
EAbB AkO—2 R—k w=E ERLE ; AO9L—=IN EARRY EANY XTUTILES
D', [mm] p S ; A AEE  HEEE
[mm] [N] [N]

50 400 G1/4| ZERHA| IXJZY N M16x1,5 EEAL 1039 1237 R481609742
EEE | HEERN i N
>
50 500 G1/4| ZERHA| XTXRY B M16x1,5 HERL 1039 1237 R481609743
BEMEE | HEERBN —vh
>
63 25 G3/8| Z=EREA| YITXY KN M16x1,5 HERL 1766 1964 R481609744
BEEE | HEEARRN —vh
>
63 50 G3/8| ZERHA| YITXRY M16x1,5 ﬁ‘%ﬁﬁl 1766 1964 R481609745
R | FEEAN —yhk
>
63 80 G3/8| ZERHAI| YITXRY B M16x1,5 HERL 1766 1964 R481609746
REMRE | HEERN —vh
>
63 100 G3/8| ZERHAI| YTXRY B M16x1,5 peibi= gz 1766 1964 R481609747
REMEE | HEEARN —vh
>
63 125 G3/8| Z=EREHA| YITERY KN M16x1,5 HERL 1766 1964 R481609748
BEfRE | fEERN N
>
63 160 G3/8| Z=ERHAI| YITXRY B M16x1,5 MERI 1766 1964 R481609749
REMRE | HEERN i N
>
63 200 G3/8| ZERHAI| YTXRY B M16x1,5 BERL 1766 1964 R481609750
BERE | NEEAN —vh
>
63 250 G3/8| Z=EREA| YITXY KN M16x1,5 HERL 1766 1964 R481609751
BEfRE | fEERLN —y kN
>
63 320 G3/8| ZEREHA| YJXY K M16x1,5 BRI 1766 1964 R481609752
BEfRE | HEERN i N
>
63 400 G3/8| ZERHAI| YTXRY B M16x1,5 BRI 1766 1964 R481609753
BEMEE | HEERBN —vh
>
63 500 G3/8| Z=EREA| YITXY KN M16x1,5 HERL 1766 1964 R481609754
BEEE | HEEARN —vh
>
80 25 G3/8| ZERHA| YITXRY M20x1,5 ﬁ‘%ﬁﬁl 2857 3167 R481609755
BT | FEEAN —yhk
>
80 50 G3/8| ZERHAI| YITXRY B M20x1,5 HERL 2857 3167 R481609756
BEMEE | HEERN —vh
>
80 80 G3/8| ZERHAI| YTXRY B M20x1,5 peibi= gz 2857 3167 R481609757
REMEE | HEEARN —vh
>
80 100 G3/8| ZEREHA| YITERY KN M20x1,5 HERAL 2857 3167 R481609758
BEfRE | EERN N
>
80 125 G3/8| Z=ERHAI| YITXRY B M20x1,5 BRI 2857 3167 R481609759
REMRE | HEERN i N
>

EMERSON.



AVENTICS CCL-IS U —X %3 1) >4 (ISO 27

15552) 2024-01-18
EAbB AkO—2 R—k w=E ERLE ; AOL—=IN EARAKY EANY NTUTINES
N} [mm] p S ; A AEE  HEEE
[mm] [N] [N]

80 160 G3/8| ZERHA| YIXRY B M20x1,5 EEAL 2857 3167 R481609760
EEE | HEERN i N
>
80 200 G3/8| Z=EREH| YITXY N M20x1,5 HERL 2857 3167 R481609761
BEMEE | HEERBN —vh
>
80 250 G3/8| Z=EREA| YITXY KN M20x1,5 HEAL 2857 3167 R481609762
BEEE | HEEARRN —vh
>
80 320 G3/8| ZERHA| YITXRY M20x1,5 ﬁ‘ﬁﬁﬁl 2857 3167 R481609763
R | FEEAN b N
>
80 400 G3/8| ZERHAI| YITXRY B M20x1,5 HERL 2857 3167 R481609764
REMRE | HEERN —vh
>
80 500 G3/8| Z=EREA| YITXVY KN M20x1,5 peibi= gz 2857 3167 R481609765
REMEE | HEEARN —vh
>
100 25 G1/2| Z=EREHA| YTxRY N M20x1,5 HEAL 4639 4948 R481609766
BEfRE | fEERN il N
>
100 50 G1/2| Z=ERHA| YTXRY b M20x1,5 MERI 4639 4948 R481609767
REMRE | HEERN i N
>
100 80 G1/2| Z=EREHA| YTXY N M20x1,5 peibi= gz 4639 4948 R481609768
BERE | NEEAN —vh
>
100 100 G1/2| Z=EREHA| YXTXY KN M20x1,5 HEAL 4639 4948 R481609769
BEfRE | fEERLN —vyh
>
100 125 G1/2| Z=ERHA| YTXRY M20x1,5 BRI 4639 4948 R481609770
BEfRE | HEERN i N
>
100 160 G1/2| Z=EREHAY| YTXY N M20x1,5 HERL 4639 4948 R481609771
BEMEE | HEERBN —vh
>
100 200 G1/2| Z=EREHA| YXTXY KN M20x1,5 HEAL 4639 4948 R481609772
BEEE | HEEARN —vh
>
100 250 G1/2| Z=ERHA| XTXRY b M20x1,5 ﬁ‘ﬁﬁﬁl 4639 4948 R481609773
BT | FEEAN b N
>
100 320 G1/2| ZERHA| XTXRY B M20x1,5 HERL 4639 4948 R481609774
BEMEE | HEERN —vh
>
100 400 G1/2| Z=EREHA| YTXY KN M20x1,5 peibi= gz 4639 4948 R481609775
REMEE | HEEARN —vh
>
100 500 G1/2| Z=EREHA| YTRY N M20x1,5 HEAL 4639 4948 R481609776
BEfRE | EERN il N
>
125 25 G1/2| Z=ERHA| YTXRY B M27x2 BRI 7224 7731 R481609777
REMRE | HEERN i N
>

EMERSON.



AVENTICS CCL-IS U —X %3 1) >4 (ISO 28

15552) 2024-01-18
EAbB AkO—2 R—k AO9L—=IN EARRY EANY XTUTILES
D', [mm] A AEE  HEEE
[mm] [N] [N]

125 50 G1/2| ZERHA| IYJZY K M27x2 BRI 7224 7731 R481609778
EEE | HEERN i N
>
125 80 G1/2| Z=EREHAY| YITXY N M27x2 HERL 7224 7731 R481609779
BEMEE | HEERBN —vh
>
125 100 G1/2| Z=EREHA| YTXY KN M27x2 HERL 7224 7731 R481609780
BEEE | HEEARRN —vh
>
125 125 G1/2| Z=ERHA| YXTXRY b M27x2 BERAL 7224 7731 R481609781
HEE| HEERN SRS
>
125 160 G1/2| ZERHA| XTXRY b M27x2 HERL 7224 7731 R481609782
REMRE | HEERN —vh
>
125 200 G1/2| Z=EREHA| YTXY KN M27x2 peibi= gz 7224 7731 R481609783
REMEE | HEEARN —vh
>
125 250 G1/2| Z=ERHA| XTXRY M27x2 HERL 7224 7731 R481609784
BEfRE | fEERN N
>
125 320 G1/2| Z=ERHA| YTXRY b M27x2 MERI 7224 7731 R481609785
REMRE | HEERN i N
>
125 400 G1/2| Z=EREHA| YTXY N M27x2 HEA 7224 7731 R481609786
BERE | NEEAN —vh
>
125 500 G1/2| Z=EREHA| YXTXY KN M27x2 HERL 7224 7731 R481609787
BEfRE | fEERLN —y kN
>

EMERSON.



AVENTICS CCL-IS U —X %3 1) >4 (ISO

29

15552) 2024-01-18
+ik
LU =L1L2+13 mm
B3
.
—(—\ [
WH + 15 mm
EANY @ B3 @ DU LU L2 SW3 WH
32 6 275 29.25 16.25 24 26 1.4
40 20 34 31.25 18.25 30 301.4
50 20 38.5 38 25 36 37114
63 20 38.5 38 25 36 37 £1.8
80 21 44 46 33 41 46 £1.8
100 21 44 49 36 41 51418
125 23 57 58 45 50 65+2.2

EMERSON.



AVENTICS CCL-IS U —X %3 1) >4 (ISO
15552)

30
2024-01-18

1ISO 15552, /') —X CCL-IS

ISO 15552

Bg ) o 8—
¥REE
ERNITOERICES
=V BEEEHE

pag ]

NTZY MIZEERKNY
= E RS AR E
il

Mt U
ERNITOERICES
A7 )L EE

EA L A~O—7 R—K AOL—=/N EARK> EANY XTUT7ILES
> @ [mm] hAFE  HHEAE
[mm] [N] [N]
32 25 G1/8| Z=ERHA| YITXRY B M10x1,25 | ZETER 435 507 R481609799
EEE | FEEAN AIL—N
>
32 50 G1/8| Z=EREA| YITXY KN M10x1,25 | ZET XA 435 507 R481609800
BEMEE | HEERBN AIL—N
>
32 80 G1/8| ZERHIT| XTIV K~ M10x1,25 | ZXETHH 435 507 R481609801
BT | HEEAR ATL—NN
>
32 100 G1/8| Z=ERHA| YTXRY M10x1,25 | HZEXETXH 435 507 R481609802
BEF| RECAN 29L—N
>
32 125 G1/8| Z=EREHA| YITXY KN M10x1,25 | ZET¥MA 435 507 R481609803
HERRE | FEEARLS AIL—N
>
32 160 G1/8| ZERHI| ITxXRY K~ M10x1,25 | ZXTEH 435 507 R481609804
BEE| HEEAN 245 L—/%
>
32 200 G1/8| Z=EREHA| YITxXY N M10x1,25 | ZEXETEH 435 507 R481609805
HERRE | FEEARLN AOL—N
>
32 250 G1/8| Z=EREHH| YITXY KN M10x1,25 | ZETER 435 507 R481609806
BEE| REERN 29L—N
>
32 320 G1/8| Z=EREA| YITXY KN M10x1,25 | ZET¥A 435 507 R481609807
BEMRE | EERDN AOL—N
>
32 400 G1/8| ZERHIT| IITXRY K~ M10x1,25 | HZXETHH 435 507 R481609808
BEREE | [EEARR AOL—N
>
32 500 G1/8| Z=ERHA| YITXRY B M10x1,25 | ZETER 435 507 R481609809
PEE | HECRN 29L—N
>
40 25 G1/4| Z=EREHA| YTXY KN M12x1,25 | ZET¥MA 665 792 R481609810
BEMEE | HEERBN AIL—N
>

EMERSON.



AVENTICS CCL-IS U —X %3 1) >4 (ISO 31

15552) 2024-01-18
EAbB AkO—2 R—k EANS EANY XTUTILES
> @ [mm] A AEE  HEEE
[mm] [N] [N]

40 50 G1/4| ZERHA| IXJZY N M12x1,25 | EET¥#H 665 792 R481609811
EEE | HEERN AIL—N
>
40 80 G1/4| ZERHA| XTXRY B M12x1,25| BET¥H 665 792 R481609812
BEMEE | HEERBN ATL—=NI
>
40 100 G1/4| Z=EREHA| YXTXY KN M12x1,25 | ZET¥H 665 792 R481609813
BEEE | HEEARRN AIL—=N
>
40 125 G1/4| Z=ERHA| YXTXRY M12x1,25 | BETEMH 665 792 R481609814
HEE| HEERN 25 L—/
>
40 160 G1/4| ZERHA| XTXRY B M12x1,25 | BEI¥#H 665 792 R481609815
REMRE | HEERN ATL—=NI
>
40 200 G1/4| ZERHAI| XTXRY B M12x1,25 | ZET¥H 665 792 R481609816
REMEE | HEEARN AOL—=N
>
40 250 G1/4| ZEREHA| YXTXY BN M12x1,25 | ZET¥H 665 792 R481609817
REEE | HEEABN AoL—N
>
40 320 G1/4| ZERHA| XTXRY B M12x1,25 | BEEIT¥#H 665 792 R481609818
REMRE | HEERN ATL—=N
>
40 400 G1/4| ZERHAI| XTXRY B M12x1,25| BETEH 665 792 R481609819
BERE | NEEAN AOL—=N
>
40 500 G1/4| Z=EREHA| YTXY KN M12x1,25 | ZETHH 665 792 R481609820
HEREE | FEEALN AoL—N
>
50 25 G1/4| ZERHA| IYJZY N M16x1,5| ZBEIERA 1039 1237 R481609821
BEfRE | HEERN AIL—N
>
50 50 G1/4| ZERHA| XTXRY B M16x1,5| BEIXEHA 1039 1237 R481609822
BEMEE | HEERBN ATL—=N
>
50 80 G1/4| Z=EREHA| YXTXY KN M16x1,5| ZETIHH 1039 1237 R481609823
BEEE | HEEARN AIL—=N
>
50 100 G1/4| Z=ERHA| XTXRY S M16x1,5| ZEEIEH 1039 1237 R481609824
BT | FEEAN AoL—N
>
50 125 G1/4| ZERHA| XTXRY B M16x1,5| BEIHERA 1039 1237 R481609825
BEMEE | HEERN ATL—=N
>
50 160 G1/4| ZERHAI| XTXRY B M16x1,5| ZETH¥HA 1039 1237 R481609826
REMEE | HEEARN AOL—=N
>
50 200 G1/4| ZERHA| YXTRY BN M16x1,5| ZETEH 1039 1237 R481609827
HEE | HEEAN 25 L=/
4
50 250 G1/4| ZERHA| XTXRY B M16x1,5| ZBEIXERA 1039 1237 R481609828
REMRE | HEERN ATL—=NI
>

EMERSON.



AVENTICS CCL-IS U —X %3 1) >4 (ISO 32

15552) 2024-01-18
EAbB AkO—2 R—k EANS EANY NTUTINES
N} [mm] A AEE  HEEE
[mm] [N] [N]

50 320 G1/4| ZERHA| YTXRY B M16x1,5| ZBEIXER 1039 1237 R481609829
EEE | HEERN ATL—=N
>
50 400 G1/4| Z=EREHAY| YTXY KN M16x1,5| BEIXHA 1039 1237 R481609830
BEMEE | HEERBN ATL—=NI
>
50 500 G1/4| Z=EREHA| YXTXY KN M16x1,5| ZETIHH 1039 1237 R481609831
BEEE | HEEARRN AOL—=N
>
63 25 G3/8| ZERHA| YITXRY M16x1,5| ZEEIEH 1766 1964 R481609832
HEE | HEEAR Z7L—/
>
63 50 G3/8| ZERHAI| YITXRY B M16x1,5| BEIHA 1766 1964 R481609833
REMRE | HEERN ATL—=NI
>
63 80 G3/8| Z=EREA| YITXVY KN M16x1,5| ZEETIH¥H 1766 1964 R481609834
REMEE | HEEARN AOL—=N
>
63 100 G3/8| Z=EREHA| YITERY KN M16x1,5| ZETEH 1766 1964 R481609835
REEE | HEEABN AOL—N
>
63 125 G3/8| Z=ERHAI| YITXRY B M16x1,5| ZBEIHERA 1766 1964 R481609836
REMRE | HEERN ATL—=N
>
63 160 G3/8| ZERHAI| YTXRY B M16x1,5| BEIXEHA 1766 1964 R481609837
BERE | NEEAN AOL—=N
>
63 200 G3/8| Z=EREA| YITXY KN M16x1,5| ZEEIHH 1766 1964 R481609838
HEE | HECAR 25L—/%
>
63 250 G3/8| Z=ERHA| YIXRY B M16x1,5| ZBEIERA 1766 1964 R481609839
BEfRE | HEERN ATL—=N
>
63 320 G3/8| Z=EREH| YITXY KN M16x1,5| BEIXEHA 1766 1964 R481609840
BEMEE | HEERBN ATL—=N
>
63 400 G3/8| Z=EREA| YITXY KN M16x1,5| ZETIHH 1766 1964 R481609841
BEEE | HEEARN AOL—=NI
>
63 500 G3/8| ZERHA| YITXRY M16x1,5| ZEEIEH 1766 1964 R481609842
HEE | HEEAR 27L—/
>
80 25 G3/8| ZERHAI| YITXRY B M20x1,5| BEIXA 2857 3167 R481609843
BEMEE | HEERN ATL—=N
>
80 50 G3/8| Z=EREA| YITXY KN M20x1,5 | ZEETH¥HA 2857 3167 R481609844
REMEE | HEEARN AOL—=N
>
80 80 G3/8| ZEREHA| YITERY KN M20x1,5 | ZEETEH 2857 3167 R481609845
REREE | HEEALN AOL—N
>
80 100 G3/8| Z=ERHAI| YITXRY B M20x1,5| ZBEIHEHA 2857 3167 R481609846
REMRE | HEERN ATL—=NI
>

EMERSON.



AVENTICS CCL-IS U —X %3 1) >4 (ISO 33

15552) 2024-01-18
EAbB AkO—2 R—k EANS EANY NTUTINES
N} [mm] A AEE  HEEE
[mm] [N] [N]

80 125 G3/8| ZERHA| YIXRY B M20x1,5| ZBEIXER 2857 3167 R481609847
EEE | HEERN ATL—=N
>
80 160 G3/8| Z=EREH| YITXY N M20x1,5| BEIXHA 2857 3167 R481609848
BEMEE | HEERBN ATL—=NI
>
80 200 G3/8| Z=EREA| YITXY KN M20x1,5 | ZEETIHH 2857 3167 R481609849
BEEE | HEEARRN AOL—=N
>
80 250 G3/8| ZERHA| YITXRY M20x1,5| ZEEIEH 2857 3167 R481609850
HEE | HEEAR Z7L—/
>
80 320 G3/8| ZERHAI| YITXRY B M20x1,5| BEIXA 2857 3167 R481609851
REMRE | HEERN ATL—=NI
>
80 400 G3/8| ZERHAI| YTXRY B M20x1,5 | ZEETH¥HA 2857 3167 R481609852
REMEE | HEEARN AOL—=N
>
80 500 G3/8| Z=EREHA| YITERY KN M20x1,5| ZEITHH 2857 3167 R481609853
REEE | HEEABN AOL—N
>
100 25 G1/2| Z=ERHA| YTXRY b M20x1,5| ZBEIXRA 4639 4948 R481609854
REMRE | HEERN ATL—=N
>
100 50 G1/2| Z=EREHA| YTXY N M20x1,5| BEIXHA 4639 4948 R481609855
BERE | NEEAN AOL—=N
>
100 80 G1/2| Z=EREHA| YXTXY KN M20x1,5 | ZEEIX¥H 4639 4948 R481609856
HEE | HECAR 25L—/%
>
100 100 G1/2| Z=ERHA| YTXRY M20x1,5| ZBEIXERA 4639 4948 R481609857
BEfRE | HEERN ATL—=N
>
100 125 G1/2| Z=EREHAY| YTXY N M20x1,5| BEIXHA 4639 4948 R481609858
BEMEE | HEERBN ATL—=N
>
100 160 G1/2| Z=EREHA| YXTXY KN M20x1,5 | ZEETIHH 4639 4948 R481609859
BEEE | HEEARN AOL—=NI
>
100 200 G1/2| Z=ERHA| XTXRY b M20x1,5| ZEEIEH 4639 4948 R481609860
BT | FEEAN AOL—N
>
100 250 G1/2| ZERHA| XTXRY B M20x1,5| BEIXA 4639 4948 R481609861
BEMEE | HEERN ATL—=N
>
100 320 G1/2| Z=EREHA| YTXY KN M20x1,5 | ZEETH¥HA 4639 4948 R481609862
REMEE | HEEARN AOL—=N
>
100 400 G1/2| Z=EREHA| YTRY N M20x1,5 | ZEETEH 4639 4948 R481609863
REREE | HEEALN AOL—N
>
100 500 G1/2| Z=ERHA| YTXRY B M20x1,5| ZBEIHEHA 4639 4948 R481609864
REMRE | HEERN ATL—=NI
>

EMERSON.



AVENTICS CCL-IS U —X %3 1) >4 (ISO 34

15552) 2024-01-18
EX b AhO—=72 R—h AIL—=N ERR> EAKY XTUT7ILES
> o [mm] A AFE O HEE
Ll [N] (N]

125 25 G1/2| ZERHAY| YXT=RY K M27x2 | BETXR 7224 7731 R481609865
EEE | FEEARN ATL—N
>
125 50 G1/2| ZEREHAT| YJZY N M27x2 | BETXRH 7224 7731 R481609866
BEEE | NEEARDN AIL—=/\
>
125 80 G1/2| ZERHIT| YIXY K M27x2 | BETIH¥R 7224 7731 R481609867
BERRE | NEEARDL AUL—=N
>
125 100 G1/2| ZERHA| YXT=RY K M27x2 | BETHMA 7224 7731 R481609868
HEE| HEERN 25 L—/
>
125 125 G1/2| ZEREHIT| IJZY K M27x2 | BETXRH 7224 7731 R481609869
BEmE | HEERDN AIL—=/N\
>
125 160 G1/2| ZERHAT| YIZY K M27x2 | BRETHMA 7224 7731 R481609870
BERRE | NEEARDL AIL—N
>
125 200 G1/2| ZERHA| XT=RY K M27x2 | BRETHMA 7224 7731 R481609871
BEEE | fEEARN A7L—=N
>
125 250 G1/2| ZESRHAY| YXT=RY K M27x2 | BEIXH 7224 7731 R481609872
BEmE | HEERDN AIL—=/NN
>
125 320 G1/2| ZEREHAT| YIZXY K M27x2 | BETXH 7224 7731 R481609873
BERE | NEERDL AIL—=/NN
>
125 400 G1/2| ZERHIT| YIZY K M27x2 | BEIXR 7224 7731 R481609874
HEE | HEEAN 2L—/
>
125 500 G1/2| ZERHA| YXT=RY K M27x2 | BETXR 7224 7731 R481609875
EREE | FEEARN AL—N
>

EMERSON.



AVENTICS CCL-IS U —X %3 1) >4 (ISO 35

15552) 2024-01-18
ik
@32-63
2J+S
L8+S
L2
T lee BG £
G
A L3 |, . a1
£ g
j R u

B
’4——
C )]
m
|
|
17
i
|
|
@BA
sl
A
L
fy/
TG
E

< == ==
X 4
VD VA
WH
G G
sw -5 EE LA
KW
om
M |
E 1 65’/ ,,,,,,,,, f\@
@ LS,
b= N o
g —
1y
LA PL @
280 - 125
ZJ+8
L8+s E
L2 VA
A VD

9B
~28
I
|
|
|
|
i
|
@BA

N
< =222 iz
EPr 2N s
WH
BG BG
G G
PL EE LA
KW sw @
o |
& Q

MM

Rt & )
— el .

(O

+

LA PL

S=AKO—7
*7O-HEAAOUI— (1) BBEBAI Y IVREOIUIE—ICEVT—DETOREEZE>TVET,

EMERSON.



AVENTICS CCL-IS 1) — X %3, 1) > & (ISO 36
15552) 2024-01-18
EARY @ A @B / ZBA d11 B1 BG mm E EE G H KK Y
32 22 30 3.8 16 495 G1/8 27.75 3.1 M10x1,25 16
40 24 35 38 16 57.5 G1/4 33.25 3.1 M12x1,25 18
50 32 40 3.8 16 69.5 G1/4 31 3.1 M16x1,5 24
63 32 45 3.8 16 795 G3/8 38,25 3.1 M16x1,5 24
80 40 45 38 17 98 G3/8 38,25 3.1 M20x1,5 30
100 40 55 3.8 17 115,5 G1/2 42,25 3.1 M20x1,5 30
125 54 60 3.8 20 145 G112 54 3.1 M27x2 41
EANY @ KW L2 L3 & L8 LA LB MM f8 P PL RT
32 5 16 5 94 0,4 20.75 7 12 4 15.75 M6
40 6 18.25 5 105 £0,7 22.75 8 16 5 16.75 M6
50 8 25 5 106 +0,7 20 12 20 7,7 16 M8
63 8 25 5 1210,8 27,25 11 20 11 19,25 M8
80 10 33 - 128 0,8 20,25 15 25 12 16,75 M10
100 10 36 - 138 +1 24,25 14 25 17 19,25 M10
125 13,5 45 - 160 +1 25,5 4 32 27,5 20 M12
EANY @ S TG VA VD WH ZJ
32 10 32,5 40,5 4 4 26 1,4 120
40 13 38£0,5 4 5 30 £1,4 135
50 17 46,5 +0,6 4 5 37 £1,4 143
63 17 56,5 +0,7 4 5 37 £1,8 158
80 22 72207 4 5 46 +1,8 174
100 22 89 10,7 4 5 51:1,8 189
125 27 110 1,1 6 6 65 +2,2 225
Q

EMERSON.



AVENTICS CCL-IS ¥ ) —X &% 1) >4 (ISO 37
15552) 2024-01-18

M2 (+7S54 Yy N AB7-HD, ¥ 1J—X CM1
1SO 15552

REB Y 32 -0(EE)

[mm]
32 10 ISO 15552 ATVLARF=L R412027820
40 12 ISO 15552 ATVLAARF=L R412027821
50 12 ISO 15552 ATV LAARF=I R412027822
63 16 ISO 15552 ATV LARF— R412027823
80 16 ISO 15552 ATV LARF—L R412027824
100 20 ISO 15552 ATV LAARF=I R412027825
125 25 ISO 15552 ATV LARF— R412027826

X7l

EANY @ FILES BR BT @ CK @ HB EM GL EA PH RA
32 R412027820 10 8 10 6,6 26 21 10 32 18
40 R412027821 1 10 12 6,6 28 24 12 36 22

\

&

EMERSON.



AVENTICS CCL-IS 1) —X &% 1) > & (ISO 38
15552) 2024-01-18
EAhy @ X722, BR BT @ CK @ HB EM GL EA PH RA
7INES
50 R412027822 13 12 12 9 32 33 16 45 30
63 R412027823 15 12 16 9 40 37 16 50 35
80 R412027824 15 14 16 11 50 47 20 63 40
100 R412027825 19 15 20 11 60 55 20 71 50
125 R412027826 225 20 25 14 70 70 30 20 60
EALNY @ TE uL UR
32 38 51 31
40 41 54 35
50 50 65 45
63 52 67 50
80 66 86 60
100 76 96 70
125 94 124 20

EMERSON.



AVENTICS CCL-IS ¥ ) —X &% 1) >4 (ISO 39
15552) 2024-01-18

OvY R LEAET T AB3, > 1) —X CM1

REIR V) 312 -0(E &)

[mm]

20,25 8 ATVLARF=L 3323420000

CM MR

FL

Y
I
Y
A

A
\

N7V

EANY @ FILES CM @ CK CL FL FO MR aT B UH
8,10 1827001447 8,1 4 13,1 24 1,5 5 4,5 12,5 20
8,10 3323410000 8 4 13 24 1,5 5 4.5 12 20
12,16 1827001446 12,1 6 18,1 27 2,0 7 5,5 15 25
12,16 3323416000 12 6 18 27 2,0 7 5.5 15 25

EMERSON.



AVENTICS CCL-IS ¥ ) —X &% 1) >4 (ISO 40

15552) 2024-01-18
Exky o X720 cM @ CK cL FL FO MR 2T B UH
TINES
20, 25 1827001445 16,1 8 24,1 30 4,0 10 6,6 20 32
20, 25 3323420000 16 8 24 30 4,0 10 6.6 22 34
32 3323432000 26 10 36 32 6,0 12 6.6 24 36
\

EMERSON.



AVENTICS CCL-IS ¥ ) —X &% 1) >4 (ISO 41
15552) 2024-01-18

OvY R LEAET T AB3, > 1) —X CM1

REIR V) 312 -0(E &)

[mm]
32 10 ATV LARAAF—I 3323432000
- S
| | (
? J 1 1
-
\_h!—!—!—‘_/ T T
1
— - —asi [ il —
|~
|-~
. - X7
EANY @ FILES CM @ CK CL FL FO MR aT B UH
8,10 1827001447 8,1 4 13,1 24 1,5 5 4,5 12,5 20
8,10 3323410000 8 4 13 24 1,5 5 4.5 12 20
12,16 1827001446 12,1 6 18,1 27 2,0 7 55 15 25
12, 16 3323416000 12 6 18 27 2,0 7 55 15 25
20, 25 1827001445 16,1 8 241 30 4,0 10 6,6 20 32
20, 25 3323420000 16 8 24 30 4,0 10 6.6 22 34
32 3323432000 26 10 36 32 6,0 12 6.6 24 36
4

EMERSON.



AVENTICS CCL-IS ¥ ) —X &% 1) >4 (ISO 42
15552) 2024-01-18

Oy R LEAEMT T MP2, 1) —X CM1

REB V) #MZ-0(ER) RTUTINES
[mm]
32 10 1ISO 15552 TILZZOA 3682903590
40 12 1ISO 15552 TILZZOA 3682904590
50 12 ISO 15552 TIZZOA 3682905590
63 16 1ISO 15552 TFILZZOA 3682906590
80 16 1ISO 15552 TILZZOA 3682908590
100 20 ISO 15552 TIZZOA 3682910590
125 20 ISO 15552 TILZZOA R412025571
T - . ,._@CD
{ " : —
e le s f
: i : A e "
| B - = Ik (D
L i r i |l =
! “ =
. 1 ]l
y & © o
CB L
~ - — - B
UB FL_
VB | | MR

CB H14 @ CD H9
32 3682903590 26 10 47 22 0,2 12 10 45 50 32,5 +0,2
40 3682904590 28 12 54 25 0,2 15 12 52 57 38,0 0,2
50 3682905590 32 12 65 27 +0,2 15 12 60 65 46,5 £0,2
63 3682906590 40 16 75 32+0,2 20 15 70 76 56,5 +0,2
80 3682908590 50 16 94 36 +0,2 20 17 90 96 72,0 0,2
100 3682910590 60 20 112 41 £0,2 25 21 110 117 89,0 0,2
4

&

EMERSON.



AVENTICS CCL-IS ¥ ) —X &% 1) >4 (ISO 43
15552) 2024-01-18

N7V
TILES

125 R412025571 70 25 138 50 30 26 130 140 110,0 £0,3

SVIE— 0

CB H14 @ CD H9 E &KX

EMERSON.



AVENTICS CCL-IS ¥ ) —X &% 1) >4 (ISO 44
15552) 2024-01-18

7 LEREES T, > —X MP4-HD

ISO 15552

REB Y 32 -0(EE)

[mm]
32 10 1ISO 15552 TILIZOA R412027813
40 12 1ISO 15552 TILZZOA R412027814
50 12 ISO 15552 TILZZOA R412027815
63 16 1ISO 15552 TILZIZOA R412027816
80 16 1ISO 15552 TILZIZOLA R412027817
100 20 ISO 15552 TILZZOA R412027818
125 25 ISO 15552 TFILZZOLA R412027819
MR | EW
| A1l | &
i g S
o RS @F:_Fa—) Y
L1l ||
L TG
CFL B

L & L1 &
32 R412027813 10 30 H11 6.6 47.5 26 -0.2/-0.6 22 5.5 12 4.5
40 R412027814 12 35 H11 6.6 53.5 28 -0.2/-0.6 25 5.5 15 4.5
50 R412027815 12 40 H11 9 64 32-0.2/-0.6 27 6.5 15 4.5
63 R412027816 16 45 H11 9 74 40-0.2/-0.6 32 6.5 20 4.5
80 R412027817 16 45 H11 1" 94 50-0.2/-0.6 36 10 20 4.5
100 R412027818 20 55 H11 1" 113.5 60 -0.2/-0.6 41 10 25 4.5
125 R412027819 25 60 H11 14 138 70-0.2/-0.6 50 10 30 7

EMERSON.



AVENTICS CCL-IS 1) — X %3, 1) > & (ISO 45
15552) 2024-01-18
EANY @ MR &K TG

32 10 32.5 0.2

40 12 38 £0.2

50 12 46.5 £0.2

63 16 56.5 +0.2

80 16 72 +0.2

100 20 89 £0.2

125 26 110 +0.3

EMERSON.



AVENTICS CCL-IS ¥ ) —X &% 1) >4 (ISO 46
15552) 2024-01-18

I L EABEA T MP6, =) —X CM1

REB Y 32 -0(EE) RTUTINES
[mm]

25 10 ISO 21287 FILZZOLA 3663602000

32 10 ISO 15552 | ZILIZU L (BEB LV 2798060320
BmEAY )

40 12 ISO 15552 | I ZZD L (BEHB LV 2798060400
WAL )

50 16 ISO 15552 | PIL IV L (BEHB LT R412025637
BERAL )

63 16 ISO 15552 | FILZZVA (BESLVE 2798060630
BEAY )

80 20 ISO 15552 | ZILZZV L (BRESB LV R412025638
BB )

100 20 ISO 15552 | PILZZJ L (HKEH IV 2798061000
BEAL )

125 30 ISO 15552 | FILZZVA (BESLVE R412025572
BEAL )

2]
= %
] - O
Q <
_ 3
O )
|
T A
N A
fl‘— —ﬁ
& '
TG
E

WMmI1—Y b VLEREEBMG. BERUMGE

EMERSON.



AVENTICS CCL-IS ¥ ) —X &% 1) >4 (ISO 47
15552) 2024-01-18

EANY @ 77)3_%)% @GCX H7 @D H11 @D1 H13 DL £0,2
25 3663602000 10 18 5,5 20 40 9 14 8 6
32 3663603000 10 20 5.5 22 46 9 15 8 6
40 3663604000 12 30 6.6 28 55 12 17 9.5 8
52,5 3663605000 12 40 6,6 28 62 12 17 9.5 9
63 5220163442 10 - 7.5 29 45 14 15 10.5 8
75 3663606000 16 55 9 36 80 16 25 12,5 11
80 5220363442 12 - 10 26 65 16 18 12 10
80 3663608000 16 70 9 38 94 16 28 12,5 12
85, 95 5220463442 16 - 10 30 75 21 22 15 10
100 3663610000 20 90 11 43 114 20 35 16 15
115 5220563442 16 - 12 37.5 95 21 25 15 12

3

32 0.5 42 6 15 16 32
40 0.5 48 8 17 16 32
52,5 0,5 55 9 17 18 46
63 - - - - - 33
75 0,5 70 11 25 21 59
80 - - - - - 49
80 0,5 80 12 28 21 73
85, 95 - - - - - 59
100 0,5 100 15 35 28 90
115 - - - - - 75

EMERSON.




AVENTICS CCL-IS ¥ ) —X &% 1) >4 (ISO 48
15552) 2024-01-18

RILN AA4, 2 1)—X CM1

EANOER RIRL ME XTUTILES
[mm]
32 AF=I), VO0LXY* EipHOE 1823120020
40 AF=I), VOLXY* EiNHOE 1823120021
50 AF—I, VO0LXY* HEEhHOE 1823120022
63 AF=I, VO0LXYF EipHOE 1823120023
80 AF=I), VO0LXY* FEiRHOE 1823120024
100 AF=I), 70LXY* HEEhH O E 1823120025
125 ISO 15552 AF—=I), VOLXYF EipHOE 5236000092
Lot o EL _. .16

EZARY @ 77;;?%- 2d & EK e8 EL L &K L6 BA
32 1823120020 20 10 452403 35 9
40 1823120021 22 12 522403 4 9
50 1823120022 22 12 60.2+0,3 4 9
63 1823120023 28 16 702+0,3 45 1
80 1823120024 28 16 902403 45 1
100 1823120025 38 20 1102403 5 1

EMERSON.



AVENTICS CCL-IS 1) —X Z#Z 1) >4 (1ISO 49
15552) 2024-01-18

5236000092
L6 EL L6

1) EE") > ¥ DIN 471

EMERSON.



AVENTICS CCL-IS ¥ ) —X &% 1) >4 (ISO 50
15552) 2024-01-18

ED1-FARAIVL—NYAT LA

ISO 15552
PRA

TRB
CCL-IS

EAN>OY RZ—)L BHIVUT XTVUTILES
2| FOUILZRNIUL-TEF4L RUVIAFIISAKNY— RIENRIZR, T 0496400704
pZm U
R2(TFOVILZNIUL-TEF14T RIOFRZTZILNATIFLY | #iETE ARER LEITE, 0496401107
pm N B
32 ZILADA RUFRSTILVATIFLY | #igTE ERER LEITE, 0496401700
Si¥E
40| TOVILZRNUIIL-TE2F4T HiR | L3I % 2 SERE 8 0496400402
pZm U BEXR ATER
40 ZILFAdA HiR| L¥I% 25 SKE@8%E 8 0496401409
BEEXR ATER
40| FOVILZNIIIL-TEF4T RUIAFILISAKIY— MR/ENRIRR, M T3 0496400801
2 N
40| TOVILZRNUIIL-TE2F4T RIOFRSTZILAIFLY | fifETE ARER 2T, 0496401204
D2 N B¥E
40 ZILAd A RIOFRZTZILAIFLY | #iETE ARER 2T, 0496401808
Eb

EMERSON.



AVENTICS CCL-IS 1) — X %3, 1) > & (ISO 51
1 5552) 2024-01-18
EARNY @ B @D G L L2 SW
32 6.7 245 M22x1 23 16.25 23
40 9.2 34 M26x1,5 28.1 18.25 32

EMERSON.



AVENTICS CCL-IS U —X %3 1) >4 (ISO

15552)

52

2024-01-18

ED1-FARAIVL—NYAT LA

ISO 15552
PRA
TRB
CCL-IS

EANOER

[mm]

EAN>OY k=)L

BHIUT

XTUTFILES

50,63| PZUILZRKUN-T2F1T B | {bEI% 25 @RS 8 0496400518
pZm U BEXR ATER
50, 63 |V N HiR| {b¥I% 29 @ 8 0496401506
BEER ATER
50,63 | FOUILZRNUI-TE2F14T RUIAFILISAKI— MR/ENRIR R, i 0496400909
2 N
50,63 | PUOUILZRNUIIN-TEF«4L RIOFRZTZILAIFLY | TR ARER 2T, 0496402103
pZm U B¥E
50, 63 ZILADL RUFRSTILAIFLY | {ifTE ARER, LFITE, 0496401905
Eb
80,100 | 7ZUILZRUIL-T2F4T HEiR| {L¥I# 28 KE8RE 8 0496400607
2 N BEER AITER
80, 100 ZILAd A B | LI 89 SERsE 8 0496401603
BEXR ATER
80,100 | 7ZUILZKNUIL-T7R2F4T RUVIATFILISARNY— RIENRIZER, MM T 0496401018
pZm U
80,100 | POV VUILZRUIIL-TRF«4 T RUFRSTILNAIFLY | HiMTE ARER, L¥IE, 0496402200
p2m N Eb
80, 100 ZILAdA RUFRZ7LNAIFLY | HiETE ARER, LEITE, 0496402006
S¥E
125| FOVILZRNUIL-TEF4T Bk | I, 25 SKERE, 8 0496301404
pZm U BEXR ATER
125 |V N HiR | L¥I% 25 SKE@8%E 8 0496303105
BEER ATER
125\ 7OVILZRNUL-TR2F4T RUIAFILISAKRI— MR/ENRIR R, iM% 0496301307
2 N
125\ FOVILZKNUL-TRF4T RIOFRTZTZILAIFLY | TR ARER LETE, 0496301706
pZm U B¥E
125 o g N RUFRSTLNAIFLY | T ARER LFITE 0496303202
Eb

EMERSON.




53

2024-01-18

AVENTICS CCL-IS U —X %3 1) >4 (ISO

15552)

L>FTHS AR

ABBDT YD

&
EMERSON.



AVENTICS CCL-IS ¥ ) —X &% 1) >4 (ISO 54
15552) 2024-01-18

BERIZY b

CCL-IS
BYE EANY O NTUTPILES
[mm]
32 R412027884
40 R412027885
50, 63 R412027886
80, 100 R412027887
125 R412027888
- L -
B3

I

I

I

wW
]98]

EMERSON.



AVENTICS CCL-IS U —X %3 1) >4 (ISO

15552) 2024-01-18
ERRY 8 ) ee sw3 MA [Nm] GW DU L B3 LU
TILES

32 R412027884 24 20 M22x1 27.5 36 6 29.25

40 R412027885 30 20 M26x1.5 34 411 20 31.25
50, 63 R412027886 36 30 M33x2 38.5 46.5 20 38
80,100 | R412027887 41 40 M40x2 44 57 21 46
125 R412027888 50 50 M50x2 57 69 23 58

EMERSON.




AVENTICS CCL-IS ¥ ) —X &% 1) >4 (ISO 56
15552) 2024-01-18

WEHY TVUY PM5, > 1)—X CM2

ALY R4 X ME XTUT7ILES
M10x1,25 AF—I, VOLXY F R412026142
M12x1,25 AF—I, VOLXYF R412026143
M16x1,5 AF—I, VOLXY * R412026144
M20x1,5 AF—I, VOLXY* R412026145
M27x2 AF—I, VOLXYF 1826409006
&
— F -
SW3 SW2 SWi1
a2 ]
o ) v
Q ¥
1 |

I
|

D1

*O¥EHEOMIE

M4 1826409008 12 13.5 4 13 33 8 12 3.2 7
M5 R412007860 8.5 14.8 6 12 38.5 13.5 7 5 8
M6x1 R412026140 8.5 14.5 6 1" 36.5 1" 7 5 10
M8x1.25 R412026141 12.5 19 8 21 58 21 1" 7 13
M10x1.25 R412026142 22 32 14 23 745 23 19 12 17
M12x1.25 R412026143 22 32 14 24 75 24 19 12 19
M16x1.5 R412026144 32 45 22 30 103 30 30 20 24
M20x1.5 R412026145 32 45 22 40 119 40 30 20 30
M27x2 1826409006 62 62 28 48 147 54 32 24 41
M36x2 1826409007 80 80 38 86 241 72 50 36 55
4

EMERSON.



AVENTICS CCL-IS ¥ ) —X &% 1) >4 (ISO 57
15552) 2024-01-18

M42x2 R412007729 64 98 42 96 271 82 60 36 65
KK Sw4 al] 1) 2)
M4 12 8 0.05-0.2 0-0,5
M5 13 8 0.05-0.2 0-0,5
M6x1 13 6 0.05-0.5 0-1,5
M8x1.25 17 8 0.05-0.5 0-1,5
M10x1.25 30 8 0.05-0.5 0-2
M12x1.25 30 7 0.05-0.5 0-2
M16x1.5 41 6 0.05-0.5 0-2
M20x1.5 41 6 0.05-0.5 0-2
M27x2 55 8 0.05-0.2 0-2
M36x2 75 8 0.05-0.2 0-2
M42x2 85 8 0.05-0.2 0-2
1) it
2) T I

EMERSON.



AVENTICS CCL-IS ¥ ) —X &% 1) >4 (ISO 58
15552) 2024-01-18

WEHY TVUYT PM7, > 1)—X CM2

ALY R4 X e NTUTILES

M10x1,25 AF—=I), VO0LXYF 1827001629

M12x1,25 AF=I), 70LXYF 1827001630

M16x1,5 AF—I, VOLXY * 1827001631

M20x1,5 AF—=I), VO0LXY* 1827001632

M27x2 AF=I), 70LXYF 1827001633

i
. B
|
—— ——

©

al
e
d7

@ =
W)

t2

A
Y

d1 h11 d6 H13 d7 H13 el H13

M10x1.25 1827001629 60 37 20 6.6 1" 36 +0,15 23 0,15 15 7

EMERSON.



AVENTICS CCL-IS ¥ ) —X &% 1) >4 (ISO 59

15552) 2024-01-18
KK e at ) d1h11 d6 H13 d7 H13 el H13 ) h1 t2
TINES

M12x1.25 | 1827001630 60 56 25 9 15 42 +0,2 38 +0,2 20 9
M16x1.5 | 1827001631 80 80 30 11 18 58 +0,2 58 +0,2 20 11
M20x1.5 1827001632 90 90 40 14 20 65 +0,3 65 +0,3 20 13
M27x2 1827001633 90 90 40 14 20 65 +0,3 65 £0,3 20 13
M36x2 1827001634 125 125 60 18 26 90 0,3 90 0,3 30 17

hyTV>
JEDOR BiEY &
KRiEDHA T NEKR
NILY +5%
M10x1.25 24 17 17 Nm 0,4-08mm | 1,9-2,3mm
M12x1.25 30 19 29 Nm 0,4-08mm | 1,9-2,3mm
M16x1.5 32 24 71 Nm 0,4-0,8mm | 1,9-2,3mm
M20x1.5 35 36 138 Nm 0,4-08mm | 1,9-2,3mm
M27x2 35 36 350 Nm 04- 1,9-2,3mm
20,31 mm ’ ’
04 -
M36x2 55 50 1080 Nm 2,8-3,4mm
0,95 mm

EMERSON.




AVENTICS CCL-IS ¥ ) —X &% 1) >4 (ISO 60
15552) 2024-01-18

OY RVLEAI> R AP2, 1) —X CM2

XTUTILES
CCL-IS, CCL-IC, CCI, CSL-RD, SSI, ICM, ICS-D2, 167 ATVLARF= 3590502000
CCL-IS, CCL-IC, CCl, SSlI, 167, ICS-D2 ATVLAARF=L 3590504000
CCL-IS, ICS-D2, 167 ATV LAARF—L 3590505000
CCL-IS, ICS-D2, 167 ATV LARF—L 3590508000

Y
A

A
[/ O Y
—J = U I N R I B e
m (@) I 4
\ A
Y o LE o
-l ¥
ER ., CE |
A
A — ‘et . — Rt -t i—
O
Y :
f
KK Rfcakd CE CKe8 CL CM B12 ER BL LE
FILES -

M4 3330510000 16 4 10 5 6 15 8

M6 3330516000 24 6 12 6 7 17 12

M8 3330520000 32 8 16 8 10 22 16
M10x1,25 3590502000 40 10 20 10 12 26 20
M12x1,25 3590504000 48 12 24 12 14 31 24

EMERSON.



AVENTICS CCL-IS 1) —X &% 1) > & (ISO 61

15552) 2024-01-18
KK 7'7)?%)% CE CKe8 cL CMB12 ER BL LE
M16x1,5 3590505000 64 16 32 16 19 39 32
M20x1,5 | 3590508000 80 20 40 20 20 49 40

EMERSON.



AVENTICS CCL-IS ¥ ) —X &% 1) >4 (ISO 62
15552) 2024-01-18

OY RVLEAI> R AP2, 1) —X CM2

XTUTILES

PRA, TRB, CCL-IS, 167, CVI AF=I, FOLXY F 1827001493

— i}
1
/: i [~  —
-
o) T NN S I—
| 4 fl 7 71 —
1
N/ I
LE N
S
— C —
I
|
|
o
I
|
I
I
|
KK ST BL CE JCK e11 CL CM D1 ER LE
TILES
M4 1822122028 11 16 4 8 4 8 5 8
M6 1822122009 16 24 6 12 6 10 7 12
M8 1822122010 215 32 8 16 8 14 10 16
M10x1,25 1822122024 26 40 10 20 10 18 12 20
M12x1,25 1822122025 31 48 12 24 12 20 14 24
M16x1,5 1822122005 39 64 16 32 16 26 19 32

EMERSON.



AVENTICS CCL-IS U —X %3 1) >4 (ISO

63

15552) 2024-01-18
KK e BL CE @CK e11 cL cM @D1 ER LE
TILES

M20x1,5 | 1822122004 50 80 20 40 20 34 20 40
M10 8958000122 26 40 10 20 10 18 12 20

M12 8958000132 31 48 12 24 12 20 14 24
M48x2 8958019332 122 192 50 96 50 82 73 96

M5 1822122008 13.5 20 5 10 5 9 6 10

EMERSON.



AVENTICS CCL-IS ¥ ) —X &% 1) >4 (ISO 64
15552) 2024-01-18

OYy ROLERAIY KRAP6, Z1)—X CM2

REIR V) 312 -0(E &) RTUTINES
[mm]

CCL-IS, CCL-IC, SSI, CSL-RD, ICM, 10 ATVLARF=L 8958209032

ICS-D2
CCL-IS, CCL-IC, SSI, ICS-D2 12 ATV LAARF—L 8958209042
CCL-IS, CCL-IC, SSI, ICS-D2 16 ATV LAARF—L 8958209052
CCL-IS, SSI, ICS-D2 20 ATVLARF— 8958209062
CCL-IS 30 ATV LARF—L 8958209072

CE

4 A1/ AN
- - I \ SE==F== <
wi ‘('T_'_ I R T S
\\ /l
LF

EMERSON.



AVENTICS CCL-IS 1) —X E#3 1) > A (ISO 65
15552) 2024-01-18
KK _,7-7- U.:. AA AV min. CE @ CN H7 EN-0,1 ER EU max. LF SW
7INES
M4 8958209002 11 8 27 5 8 9 6 9 9
M6 8958209012 13 9 30 6 9 10 6,75 10 11
M8 8958209022 16 12 36 8 12 12 9 12 14
M10x1,25 8958209032 19 15 43 10 14 14 10.5 14 17
M12x1,25 8958209042 22 18 50 12 16 16 12 16 19
M16x1,5 8958209052 27 24 64 16 21 21 15 21 22
M20x1,5 8958209062 34 30 77 20 25 25 18 25 30
M27x2 8958209072 50 45 110 30 37 35 25 35 41
KK Z [°] max.
M4 6,5
M6 6,5
M8 6,5
M10x1,25 6,5
M12x1,25 6,5
M16x1,5 75
M20x1,5 7,5
M27x2 7,5

EMERSON.



AVENTICS CCL-IS ¥ ) —X &% 1) >4 (ISO 66
15552) 2024-01-18

EANEHEAFY b MR9

ALY R4 X XTUTILES
M10x1,25 ATVLARF= 8103190464
M12x1,25 ATVLAARAF=IL 3590304000
M16x1,5 ATV LAARF—L 3590305000
M20x1,5 ATV LARF—L 3590308000
M27x2 WBRERAT Y LAAF—I 2990600312

/\ —

< o4V _pl KW
KK 73)3_—*!)% KV KW
M4 1823300033 10 3.2
M6 1823300034 13 4
M8 1823A00021 19 6
M10 8103190344 19 6
M10x1,25 1823300030 24 8
M20x1,5 1823300031 30 10
M27x2 1823A00029 41 13.5
M36x2 8103190414 50 16
M42x2 8103190424 60 21
M6 8103190644 10 3.2
M8 8103190164 13 4

EMERSON.



AVENTICS CCL-IS 1) — X %3, 1) > & (ISO 67
15552) 2024-01-18
KK 77)3_-&?% KV Kw
M10x1,25 | 8103190464 17 5
M4 3330310000 7 2.2
M12x1,25 3590304000 19 6
M16x1,5 3590305000 24 8
M20x1,5 | 3590308000 30 10
M20x1,5 8103040344 30 10
M24x2 | 8103190394 36 12
M48x2 | 8103190434 65 25
M10x1,25 2990600303 17 5
M12x1,25 2990600304 19 6
M16x1,5 2990600305 24 8
M20x1,5 | 2990600308 30 10
M27x2 2990600312 41 13.5
M36x2 2990600316 50 16
M42x2 | 2990600325 60 21

EMERSON.



AVENTICS CCL-IS U —X @#3 1) V& (ISO 68
15552) 2024-01-18

Htal

M6 4 R402003749
M8 4 R402003750

[ A N - -
a
k L S
.
+3E (mm)
NTY
FILEE a d E k L S r

R412024762 2 M4 9.8 3.9 10 9.8 0.5
R412024763 3 M5 11 4 12 12 0.5
R402003749 3 M6 14 5.3 16 13 0.7
R402003750 3 M8 18 6.4 17 16 0.7

EMERSON.



AVENTICS CCL-IS U —X @#3 1) V& (ISO 69
15552) 2024-01-18

Htal

M10 4 R402003751
M12 4 R402003752
&
8 ‘
- 45° _
L ‘ ’-‘T\
R ().
E L/
. 30° ‘
K L S
RO,5
0,5
+3& (mm)
77)?,_—%)% El o] E [3 L S r
R402003751 4 M10 24 7,9 8.8 15 21
R402003752 4 M12 30 9,5 15 18 27

EMERSON.



AVENTICS CCL-IS ¥ ) —X &% 1) >4 (ISO 70
15552) 2024-01-18

o — 2 1)—XST6

PRA
PRE
CClI

KPZ

SN
GPC
CVI
T—FINIVRAY=THL, ERAYF
CE-BAMENET

cULus

RoHS

UL (Underwriters Laboratories)

S—  aAvry -7 T—7 YRER RER EHEE EBHEE FEBHEE EHEE Ll
ADE K247 JLAN— JIEEL DC, &K AC, &K DC. &/ DC, &K AC., &/ AC. &K

A [m] [A] [A] [V DC] [V DC] [V AC] [V AC]

PRA, —R| RUDL 3 0.13 0.13 10 230 10 230 | BHRE R412022866
PRE, 2 B ik
ccl,

KPZ, SSI,

GPC, CVI
PRA, J—R| RUDL 5 0.13 0.13 10 230 10 230 | BMRE R412027170
PRE, -5 B 1k
ccl,

KPZ, SSI,

GPC, CVI
PRA, —R| RUDL 3 0.3 0.5 10 30 10 30| WRE R412022869
PRE, 2> Brik
ccl,

KPZ, SSlI,

GPC, CVI
PRA, —R| RUDL 5 0.3 0.5 10 30 10 30| BMRE R412022870
PRE, 2 B ik
ccl,

KPZ, SSl,

GPC, CVI
PRA, J—R| RUDL 10 0.3 0.5 10 30 10 30| BHRE R412022871
PRE, R B ik
ccl,

KPZ, SSI,

GPC, CVI
PRA, EFH| RUDL 3 0.13 10 30 A&, R412022853
PRE, PNP 2 i R Ex
ccl, By ik

KPZ, SSI,

GPC, CVI
PRA, EFH| RUDL 5 0.13 10 30 e B, R412022855
PRE, PNP 2 Bt R Bx
ccl, Brik

KPZ, SSlI,

GPC, CVI
PRA, BEFH| RUDL 10 0.13 10 30 e g, R412022857
PRE, PNP 2 T
ccl, B ik

KPZ, SSI,

GPC, CVI

EMERSON.



AVENTICS CCL-IS ¥ ) —X &% 1) >4 (ISO 71
15552) 2024-01-18

JY— dvay g—7 T—7 {BRER RER FIHEE FHEE FHEE FDEE BR
ADE k247 JLAN— JIREL DC, &K AC. &K DC, &/ DC. &K AC. &/ AC. &K

B [m] (Al (Al [VDC] [VDC] [VAC] [VAC]
PRA, NPN| RUSL 3 0.13 10 30 i, R412022849
PRE, Rz B R i
cal, B 1E
KPZ, SSI,
GPC, CVI
PRA, NPN| RUSL 5 0.13 10 30 T sEiE i, R412022850
PRE, 2 Wit R e
cal, B iE
KPZ, SSI,
GPC, CVI
Ii&
57 . 295 oo L _
4
‘ F 1= o 2.7
- . BN
3'2—‘ I — = s ———] BU
BK
X 23 x 0,14 mm?2

1*=4RA > h2*=0OYy 4L 3*=LED V1> RV, EH
L=%—7)IK&EBN=%,BK=8,BU=F
X=EFF :11.6 mm

R412022866, R412027170
+i&

57 32,5 L

4,8
1o 27
' BN
gi [ U—— | S o
1.2 2x 0,14 mm2

30

22,9

%
3* g\ﬁq"

P =gIRA > h2*=0Y IR LU 3*=LED V1> R, &EH
L=47—7)L&k& BN=%, BU=&

EMERSON.



AVENTICS CCL-IS ¥ ) —X &% 1) >4 (ISO 72
15552) 2024-01-18

o — 2 1)—XST6

PRA
PRE
CClI
KPZ
SSI

UL (Underwriters Laboratories)

S)— ARy v—=7 q—7 HRER EBEE EBHEE FEBEE EDHEE
ANE K247 JLAN— JILEEL DC, &K DC. &/» DC, &K AC., &/0 AC. &K

EEE [m] (Al [VDC] [VDC] [VAC] [VAC]

PRA, J—RK| RUIL 0.3 0.13 0.13 10 30 10 30| BMRE R412022868
PRE, 2z B ik
CCl,
KPZ, SSI,
GPC, CVI

PRA, J—R| RUIL 0.3 0.13 0.13 10 30 10 30| BMRE R412027172
PRE, 2 B ik
CCl,
KPZ, SSI,
GPC, CVI

PRA, J—R| RUIL 0.3 0.3 0.5 10 30 10 30| HRE R412022872
PRE, =% bigld
CCl,
KPZ, SSI,
GPC, CVI

PRA, BN | RUJL 0.3 0.13 10 30 iy AR 1, R412022858
PRE, PNP 0% Wt #n
CCl, B ik
KPZ, SSI,
GPC, CVI

PRA, NPN| RUTL 0.3 0.13 10 30 iy AR 1, R412022851
PRE, 2 Wt R Er

CCl, Frik
KPZ, SSI,

GPC, CVI

EMERSON.



AVENTICS CCL-IS 1) —X Z#Z 1) >4 (1ISO 73

15552) 2024-01-18
Ii&
57 29,5 L
4’8 2.7 29.-37
) /» 1* 2*
._————'——‘-—'__———_”.__
= e ——— == - 0’25
» | N

1*=4JfRA > ~h2* =AYy YU 3*=LED V1> RV, EH
L=—7ILk&
X=8F: 11,6 mm, J—K:83mm

EMERSON.



AVENTICS CCL-IS ¥ ) —X &% 1) >4 (ISO 74
15552) 2024-01-18

o — 2 1)—XST6

PRA

PRE

CcCl

KPZ

SSi

GPC

CVI

729

M12
CE-BAMENEF
cULus

RoHS

UL (Underwriters Laboratories)

S)— ARy v—=7 g—7  YRER YRER EBEE FBHEFE FHEE FEDEE
ANE N247 JLAN— JLEEL DC, &K AC., &K DC. &/ DC, &K AC. &/ AC. &K

A [m] [A] [A] [VDC] [VDC] [VAC] [VAC]
PRA,| U—K| RUIL 03 0.13 0.13 10 30 10 30| WA R412027171
PRE, 2y B
ccl,
KPZ, SSl,
GPC, CVI
PRA,| U—K| RUIL 03 03 05 10 30 10 30| WA R412022876
PRE, 2> Bk
ccl,
KPZ, SSl,
GPC, CVI
PRA,| EBFH| RUIL 0.1 0.13 10 30 it s i, R412022879
PRE, PNP 2> B R
ccl, B
KPZ, SSl,
GPC, CVI
PRA,| BFH| KUIL 03 0.13 10 30 it sE e, R412022863
PRE, PNP 2 B R
ccl, B
KPZ, SSl,
GPC, CVI
PRA,| BFH| RKUIL 3 0.13 10 30 s, R412022877
PRE, PNP 2 att R B
ccl, Bk
KPZ, SSl,
GPC, CVI
PRA,| BFH| RKUIL 5 0.13 10 30 s, R412022878
PRE, PNP 2 LR
ccl, Bk
KPZ, SSl,
GPC, CVI

EMERSON.



AVENTICS CCL-IS 1) —X Z#Z 1) >4 (1ISO 75

15552) 2024-01-18
Ii&
295 L
5.7 577 40 - 50
48
F v 2+
=g I S g | _ ,f,,g
X

P =gIRA > R2*=0Y VR U 3*=LED V1> R, &EH
L=—7Ik&
X=PNP: 11,6 mm, 'J—K:8,3mm

EMERSON.



AVENTICS CCL-IS ¥ ) —X &% 1) >4 (ISO 76
15552) 2024-01-18

toH—, 2 )—-XST6

PRA

PRE

CcCl

KPZ

SSi

GPC

CVI

729

M12

ATEX
CE-BAMENET
cULus

RoHS

UL (Underwriters Laboratories)

g (LI M

Ru

ﬂ- 4 BK
PNP 3_jBu ] _

21)—=X d>&9 r—7 r—7 YIREFR
O EZERS K247 ILAIN— IERE L DC, &K
[m] [Al
PRA, PRE, PNP| RUIL &> 0.3 0.1 10 30| THELENE, & R412022864
CCl, KPZ, 4 R BBy b
SSI, GPC,
cvi
3%
29,5 L
5,7 2,7 40 - 50
48 . .
2 i
905% -
© f Y RERE X
o, D R =" F-—-—R——- = — s K =
<R =
olelols
X

1*={IRRA > R2*=0Y IRLU 3*=LED V1> R, EH
L=—7IR&
X=PNP: 11,6 mm, 'J—R:83mm

EMERSON.



AVENTICS CCL-IS 1) —X Z#Z 1) >4 (1ISO 77
15552) 2024-01-18

R412022864
EEYHT

EMERSON.



AVENTICS CCL-IS ¥ ) —X &% 1) >4 (ISO 78
15552) 2024-01-18

o — 2 1)—XST6

PRA
PRE
CClI

KPZ

UL (Underwriters Laboratories)

JU— dvay g7 T—7 {RER RER FIDEE FHEE HHEE FDHEE Rz XTUTILES
ADE k247 JLAN— JIREL DC, &K AC., &K DC, &/ DC. &K AC. &4 AC, &K

EEAS [m] [A] [A] [V DC] [V DC] [V AC] [V AC]

PRA, —R| RUDL 0.3 0.3 0.5 10 30 10 30| WmRE R412022873
PRE, 2> By ik
ccl,

KPZ, SSlI,

GPC, CVI
PRA, —R| KUK 0.3 0.3 0.5 10 30 10 30| BMRE R412022875
PRE, EZIL Bh LE
ccl,

KPZ, SSlI,

GPC, CVI
PRA, J—R| RUDL 0.5 0.3 0.5 10 30 10 30| BHRE R412022874
PRE, 2 B ik
ccl,

KPZ, SSI,

GPC, CVI
PRA, EFH| RUDL 0.3 0.13 10 30 A&, R412022859
PRE, PNP > i R Ex
ccl, By ik

KPZ, SSI,

GPC, CVI
PRA, EFH| KUK 0.3 0.13 10 30 e B, R412022862
PRE, PNP =L B R B
ccl, Brik

KPZ, SSlI,

GPC, CVI
PRA, BEFH| RUDL 0.5 0.13 10 30 e S, R412022861
PRE, PNP 2 B R
ccl, B iE

KPZ, SSI,

GPC, CVI
PRA, NPN| RUJL 0.3 0.13 10 30 A&, R412022852
PRE, 2 B R Ex
ccl, B ik

KPZ, SSI,

GPC, CVI

EMERSON.



AVENTICS CCL-IS 1) —X Z#Z 1) >4 (1ISO 79

1 5552) 2024-01-18
Ii&
. 29,5 L
: 2,7 36-41,5
4,8
/71* 2*
: L e S { 1z
X \

1" =4{MfRRA > R2*=0OY Y4l 3*=LED T 1> R, EH
L=—7ILk&
X=EF: 11,6 mm, J—K:83mm

R412022873, R412022875, R412022874, R412022859, R412022862, R412022861, R412022852
B> Ev) %4T Mex1 (3 1)
1 4 3

EMERSON.



AVENTICS CCL-IS ¥ ) —X &% 1) >4 (ISO 80
15552) 2024-01-18

toH—, 2 )—-XST6

PRA

PRE

CcCl

KPZ

SSi

GPC

CVI

729

M8

ATEX
CE-BAMENET
cULus

RoHS

UL (Underwriters Laboratories)

T Hap2M o

ﬂ- 4 BK
PNP _s__jBu ] _
2)—X a>329 r—7 r—7 YRER EBEE EBEE
O EZERS K217 ILAIN— IERE L DC, &K DC. &‘» DC., &KX
[m] [A] [V DC] [V DC]

PRA, PRE, PNP| RUIL &> 0.3 0.1 10 30| MHEEM, & R412022860
CCl, KPZ, L Yl
SSI, GPC,

cvi
3%
29,5 L
2L 2,7 36-41,5
48 ‘ —
/7 1* 2*
© P = . | iy ,ﬂ,é
X \_— %%%é%

21,75 ,
| 082

32,9

9
3* ‘5““%

1T*={R_RA > 2*=0OY V48U 3*=LED V1> R, EH
L=7—7LERE
X=8F: 11,6 mm, J—RK:83mm

EMERSON.



AVENTICS CCL-IS 1) —X Z#Z 1) >4 (1ISO 81
15552) 2024-01-18

R412022860
B> Ev) %4T Mex1 (3 1)
1 4 3

EMERSON.



AVENTICS CCL-IS ¥ ) —X &% 1) >4 (ISO 82
15552) 2024-01-18

o — 2 1)—XST6

PRA

PRE

CcCl

KPZ

SSi

GPC

CVI

BUTLW2Tr—7 ol
ATEX
CE-BAMENEF
cULus

RoHS

UL (Underwriters Laboratories)

\

14 s a—
T e
PNP i_jBU ] =
=X a>39 r—7 i YRER EBEE EBEE
(OJEE::3: 88 K247 ILAIN— DC, &K DC. &/» DC., &KX
[Al [V DC] [V DC]
PRA, PRE, PNP| RUIL AR 3 0.1 10 30| THELENY, & R412022854
CCl, KPZ, 4 R ERPy LE
SSI, GPC,
cvi
PRA, PRE, PNP| RUTL AR 5 0.1 10 30| THELEN, & R412022856
CCl, KPZ, R ERBE Lk
SSI, GPC,
cvI
1%
57 29,5 L
4.8 27
F 1* 2
/ 1 S ——— BN
o I — e - = - BU
BK
X 23 x 0,14 mm2

@29

9
3* J 6@7/‘

1T*={R_RA > 2*=0OY V8L 3*=LED V1> R, EH
L=7—7)IR&EBN=%,BK=8,BU=F
X=EF:11.6 mm

EMERSON.



AVENTICS CCL-IS U —X %3 1) >4 (ISO

15552)

83
2024-01-18

oY —, =X ST6-HT

PRA

PRE

CcCl

KPZ

BUTLW2Tr—7 ol

(=

RoHS

UL (Underwriters Laboratories)

—

g—7 F—7  YRER YRER FBEE FBHEE FHEE FIDEE Eickoo NTUTILES
JLAN— JEZL DC., &K AC, &K DC. &/ DC, &K AC. &/ AC. &K
[m] [A] [A] [V DC] [V DC] [V AC] [V AC]
PRA, J—R| RUDL 3 0.13 0.13 0 30 0 30| BHRE R412022865
PRE, x> BhIE
CCl, KPzZ
PRA, —R| RUDL 10 0.13 0.13 0 30 0 30| BmERE R412022867
PRE, x> Bh LE
CCl, KPZ
T3k
57 - 29,5 1 e L o
4.8 2.7
1* 2*
1 Y BN
: e I — =
BU
8,3 3x0,14 mm?

1*=4IWEIRI N 2*=BERL
L=—7)&& BN=%, BU=&

EMERSON.



AVENTICS CCL-IS U —X %3 1) >4 (ISO
15552)

84
2024-01-18

Y —H1T i+, 1) —X CB1

ST6

HE NTUTPILES
TILZZTA R402000040

A
Y

4.7
I
|
|
B
|
|
-
\

(3.2)

A

Nl

.

Y

Y

EMERSON.



AVENTICS CCL-IS ¥ ) —X &% 1) >4 (ISO 85
15552) 2024-01-18

ABEAKIRY R, 1) —X CON-RD

Vv h
M8x1
3t

Ee2 ] RDE

BT — FEE
JILE [°C]
-
[mm]
48 V AC/ 3| A-O—R| FED—I| BGBAEF 4 35 5 -25 80 1834484173
DC it R 7

1834484173
EVEINET, YTy h

1

EMERSON.



AVENTICS CCL-IS ¥ ) —X &% 1) >4 (ISO 86
15552) 2024-01-18

ABEAKIRY R, 1) —X CON-RD

Vv K
M8x1
3

i

r

e n] Ee2 ] RDE REE

BEBT— BT — ERE ERE
7JILE 7JILE [°C] [°C]
-G\ B EKX
[mm] [mm]
48V AC/ 3ME| A-O—K| FZ—I| BRAEF 4 3.5 5 -40 85 1834484174
DC it [N 7
+3&E (mm)
ca. 28,0

|
M8x1
29,7
211,6

12,5

max.2 5,0

1834484174
EVENET, YTy ks

1

EMERSON.



AVENTICS CCL-IS U —X %3 1) >4 (ISO

15552)

87
2024-01-18

ABEAKIRY R, 1) —X CON-RD

YTy k
M8x1

EHEE BR =) BER BERE EXELR EX g—7 T— Bk ®2E BB NTUTILES
[A] Fa4vT BHE1, H1,R 1,d— B2 JIRE JII-g #HEE HBEE HIE
247 LYR F4a2T BAL4T [m] [mm] [mm?] [°C] [°C]
Y4 X
48V AC/ 4| k=)L | VYTV K M8x1| A-J—|BLWTWL 3 45 0.24 25 85 1834484166
DC K kit | B —7
L Dig
48V AC/ 4|k —)I | YTV R M8x1| A-J—|BLWTWL 5 45 0.24 25 85 1834484168
DC [N Rit | 25 —7
ROy
48V AC/ 4| k—=I | VYTV K M8x1| A-J— |[BALTL 10 45 0.24 25 85 1834484247
DC R RiL | d5—7
ROY:
1%
L
~40
2
w i
<
i Eﬂ
| e
=~ x
SEE T =
S & =39
!
32
3x0,25mm?
L= Re

1834484166, 1834484168, 1834484247
EVEAIWHT, YTy K

1

3 4

(1) BN=2 (3) BU=% (4) BK=2

EMERSON.



AVENTICS CCL-IS ¥ ) —X &% 1) >4 (ISO 88
15552) 2024-01-18

ABEAKIRY R, 1) —X CON-RD

Vv h
M8x1

EBEE TR - BER BERE EXER EBX g—7 J— Bk BPE &sA XTUTILES
[A] Fa4U BEHE1, H1,A 1,0— B2 IIRE JII-g #EME BEREE FEEE
2AL7 LYR Fa2T BAT [m] [mm] [mm?] [°C] [°C]
Y4 X
48 V AC/ 41— |VYTY N M8x1| A-J—|BLWTWL 3 45 0.24 -40 85 1834484167
DC R RiE | Br—7
L Dig
48 V AC/ 41— | VYTV N M8x1| A-J—|BLWTWL 5 4.5 0.24 -40 85 1834484169
DC N Rit| 5 —7
LD
48 V AC/ 41— | YTV M8x1| A-Jd—|BLWTWL 10 4.5 0.24 -40 85 1834484248
DC R RiE | B —7
ROY:
1%
@10
M8x1_

|
<t
Q \

N—
3 |
Te]

L ___T____E_B_E____Jg_(gr_______
1 I

16 32

= ~20'5 = - ~40
L N

EMERSON.



AVENTICS CCL-IS 1) —X Z#Z 1) >4 (1ISO 89
15552) 2024-01-18

1834484167, 1834484169, 1834484248
EVEYET, YTY N

1

3 4

(1) BN=%t (3) BU=%& (4) BK=8

EMERSON.



AVENTICS CCL-IS U —X @#3 1) V& (ISO 90
15552) 2024-01-18

HESR, 2—XA SN

Hhl
ATVLARF=IL

—1 1
il
FER—TI TE M H
[dB] [/min]
M5 68 10 0.006 R412010686
G1/8 73 1218 10 0.01 R412010687
&
! #—
_>|

R412010686 M5 25 6.5 4 3 8 8
R412010687 G1/8 6 11 6 4 15 13
R412007817 G1/4 8.5 12 8 5 18 16

EMERSON.



AVENTICS CCL-IS ¥ ) —X &% 1) >4 (ISO o1
15552) 2024-01-18

HESR, 2—XA SN

Hhl
ATVLARF=IL

AR
A

FER—5) EAELE H
[dB] [l/min]
M5 85 73 1 0.003 R412010090
G 1/8 90 1312 1 0.011 R412010081
3%
A =
()]
(U] Q O —
Y \
RE> 1. L1 =

R412010090 M5 8 3.1 10.5 3.5
R412010081 G1/8 13 6.6 20 6

R412010082 G 1/4 16 8.6 29.5 7.5
R412010083 G3/8 19 12.1 335 7.5
R412010084 G1/2 24 15.3 39.5 9.5
R412010085 G 3/4 30 19.3 45 10

R412010086 G1 36 255 49.5 1.5

EMERSON.



nh elisen: T 12

Efficient pneumatic solutions, our program:
cylinders and drives, valves and valve systems,
air supply management

Visit us: Emerson.com/Aventics
Your local contact: Emerson.com/contactus

Q, Emerson.com
ﬁ Facebook.com/EmersonAutomationSolutions
LinkedIn.com/company/Emerson-Automation-Solutions

pu—

"/ Twitter.com/EMR_Automation

An example configuration is depicted on the title page. The delivered product may thus vary from that in the illustration. Subject to change. This
Document, as well as the data, specifications and other information set forth in it, are the exclusive property of AVENTICS GmbH. It may not be
reproduced or given to third parties without its consent. Only use the AVENTICS products shown in industrial applications. Read the product
documentation completely and carefully before using the product. Observe the applicable regulations and laws of the respective country. When
integrating the product into applications, note the system manufacturer’s specifications for safe use of the product. The data specified only serve
todescribe the product. No statements concerning a certain condition or suitability for a certain application can be derived from our information
The information given does not release the user from the obligation of own judgment and verification. It must be remembered that the products
are subject to a natural process of wear and aging.

The Emerson logo is a trademark and service mark of Emerson Electric Co. Brand logotype are registered trademarks of one of the Emerson
family of companies. All other marks are the property of their respective owners. © 2019 Emerson Electric Co. All rights reserved.

EMERSON

CONSIDER IT SOLVED




